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212807112646. 2
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212807112649. 1
212807112650. 2
212807112651. 3
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If A is a square matrix of order 3 such that |A|=2, then the value of |adj (adj A)| is :
(1) 2

(2) 4

3) 8

4) 16
Options :
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212807112654. 2
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212807112656. 4
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T A, 3 Fife F1 ot Tege € W6 |A|=2 9 |dj (adj A)| © :
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(2) 4
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Options :

212807112653. 1
212807112654.2
212807112655. 3
212807112656. 4
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If y=log —5 | then value of —5 is:
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(4) 2x+log?2

Options :
212807112657. 1
212807112658. 2
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d
The condition on a and b, such that for y = L 3, 9 0 atx=115:
¥ 52 dx
(1) b=2a
(2) b=-2b
(3) a=2b
(4) b=-2a
Options :

212807112661. 1
212807112662. 2
212807112663. 3
212807112664. 4
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(1) b=2a
2) b=-2b
3) a=2b
4) b=-2a
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212807112661. 1
212807112662. 2
212807112663. 3
212807112664. 4
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The interval in which the function flx)=10—6x—2x2 is decreasing is :
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212807112665. 1
212807112666. 2
212807112667. 3
212807112668. 4
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212807112665. 1
212807112666. 2
212807112667. 3
212807112668. 4
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Area of the region bounded by the curve |x|+ |y|=1 and x-axis is :

(1) 1
(2) 2
1
G 3
3
4 5

Options :

212807112669. 1
212807112670. 2
212807112671. 3
212807112672. 4
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212807112669. 1
212807112670. 2
212807112671.3
212807112672. 4
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The value of the integral J.zL dx is:
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Options :

212807112673. 1
212807112674.2
212807112675. 3
212807112676. 4
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212807112673. 1
212807112674. 2
212807112675.3
212807112676. 4
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dx

The sum of order and degree of the differential equation
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212807112678.2

212807112679. 3
212807112680. 4
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212807112677. 1
212807112678.2
212807112679. 3
212807112680. 4
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dy _ 6.
The solution of the differential equation de 2 y(1) =3 js.
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Options :

212807112681. 1
212807112682. 2
212807112683. 3
212807112684. 4
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212807112681. 1
212807112682. 2
212807112683. 3
212807112684. 4
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Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprechension MCQ1

The random variable X has a probability distribution P(X) of the following form, where k is some
number.

k, if x=0
e 3 % =1
PX=23 it x=2

0, otherwise

Then P(x<2) is :

(1) 0
2 1
1
® 35
1
4 3

Options :

212807112685. 1
212807112686. 2
212807112687. 3
212807112688. 4
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Options :

212807112685. 1
212807112686. 2
212807112687. 3
212807112688. 4
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The mean of the number of heads in a simultaneous toss of three coins is :
(1) 1

(2)

(3)
(4)

Options :

212807112689. 1
212807112690. 2
212807112691. 3
212807112692. 4
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Options :

212807112689. 1
212807112690. 2
212807112691. 3
212807112692. 4
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For the LPP

Maximise z=x+y

subject to x—y==1, —x+y=2, x; y20,z has :

2
(1) Max. value = =

(3%}

(2) Max. value=5
(3) Max. value=11
(4) No Max. value

Options :

212807112693. 1
212807112694. 2
212807112695. 3
212807112696. 4
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212807112693. 1
212807112694. 2
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Choose the wrong statement from the following :

(1) A LPP is an optimization problem

(2) Ina LPP the constraints and objective function are linear

(3) Max z=2xy+2x+3y can be a valid objective function for a LPP

(4) The optimal solution of a LPP is at one of the corner points of basic feasible solution

Options :

212807112697. 1
212807112698. 2
212807112699. 3
212807112700. 4
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= | 38 %Y T4 ¢

(1) TH LPP 3%=q9 §0&0 ¢ |

(2) TUH LPP B =gy g1 399 ol UfEs B 21

(3) TUH LPP & foad 3R¥a et SIfshad z = xy+ 2x + 3y 99 & Tehal B
(4) T LPP %I 304 3 SURYA HHTd 8 o Ueh A4 fog T a1

Options :

212807112697. 1
212807112698. 2
212807112699. 3
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Key Value
Comprehension MCQ2

Given relation R={(x, y) : y=x+5, x < 4, x, y ¢ N}. Where N is a set of natural numbers then :

(1) R 1s an equivalence relation.

(2) Ris transitive but neither reflexive nor symmetric.

(3) Ris reflexive but neither symmetric nor transitive.

(4) R is symmetric & transitive but not reflexive.

Options :

212807112701. 1
212807112702. 2
212807112703. 3
212807112704. 4

Question Number : 16 Question Id : 21280728176 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

feam o I R={(x, y) : y=x+5, x <4, x,y e N}, 5@ N Wehel &N 1 9= &, 79 :

(1) R oo TRy ¥ |

(2) R e ¥ foreg 7 @ Tged ¥ 9 € wafia 2
(3) R Tqed ¢ foheg 7 1 Tufud & 7 & e €
(4) R 9ufga o Gehine © g @ded T )
Options :

212807112701. 1
212807112702.2
212807112703. 3
212807112704. 4
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Comprehension MCQ2

Let f: R—R defined by f(x)=2x>—7 for xeR. Then :

(A) fis one-one function

(B) fis many to one function

(C) fis bijective function

(D) fis into function

Choose the correct answer from the options given below :
(1) (A) and (D) only

(2) (B) and (D) only

(3) (B) and (C) only

(4) (A)and (C) only

Options :

212807112705. 1
212807112706. 2
212807112707. 3
212807112708. 4
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g f:R-R, flx)=22—7, xR gN TRfia B, 7 :
(A) fTHH! B Bl

(B) f9gEH HIH Tl

(C) fUHH! Ar=BEH Herd ¢ |

(D) f TS Her
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(1) ad (A) T (D)
(2) 9 (B) q (D)
(3) e (B) 7 (Q)
(4) FFA (A) T (C)
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212807112705. 1
212807112706. 2
212807112707. 3
212807112708. 4
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Match List - I with List - IL

List - I List - II

(A) Range of y=cosec ™ lx 0 R-—(-11)

(B) Domain of sec™ x (I) (0, m)

(C) Domain of sin~lx I [—1, 1]

_ ~A7 iF
(D) Range of y=cot™ lx (IV) [T' E} — {0}

Choose the correct answer from the options given below :
(1) (A0, (B)-(I), (O-IV), (D)~1)
(2)  (A)-1V), B)-(1). (O-I), (D)-(I)
(3)  (A)-(D), (B)-(1V), (O-(1L), (D)-{I)
(4)  (A)-1D, B)-dI), (O)-[D), (D)-IV)

Options :

212807112709. 1
212807112710. 2
212807112711. 3
212807112712. 4
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Correct Marks : 5 Wrong Marks : 1
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el - 1 a1 Febt - 11 1 e &L
el - 1 A - 11

(A) y=cosec™lx 1 TR M R—(-11)

(B) sec™ Ly &l W (I) (0, m)

(C)  sin~ 1y o U= @y [-1,1]

(D) y=cot™lx & 9RET (IV) {_2—“ %} - {0}

A feu U fosredi 5 9 WE ST =994 Sifau |
(1) (A)-D, (B)-(ID), (O-(1V), (D)~(II)
(2)  (A)-(IV), (B)-(1), (O)-(11I), (D)-(II)
(3) (A, (B)-(IV), (O)-(1D), (D)-(I)
(4) (A1), (B)-(I1D), (©)-(D, (D)-(IV)

Options :



212807112709. 1
212807112710. 2
212807112711. 3
212807112712. 4
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Let tan~ly=tan~ L+ tan™ 2_x2 Then v is :
1—x
1) 3x — x°
1—3?
5 3x + 22
2) 132
3) 3x — x°
EA
1 3x +1°
B T2

Options :

2128071127131
212807112714.2
212807112715. 3
212807112716. 4
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g tan_]y=mn_1x+ tem_l[Qix2 , a9 y i
1- .

3x — x°

1 — 3x2
5 3x + x°
@) 1732
. 3x — x°
S
" 3x + x3
@ 132

Options :

2128071127131
212807112714.2
212807112715.3
212807112716. 4
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Correct Marks : 5 Wrong Marks : 1
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The value of 2y—3x, if

3 —4 7 6
g is
7 Y= 1 2 15 14|

1) 12

2) -10

3) 6

(4) -5
Options :

212807112717. 1
212807112718.2
212807112719.3
212807112720. 4
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o|* S| [ —4]_[7 o
W27 yoa|T[1 27|15 14)% T -Bx, FEAE:

1) 12
2) -10
3) 6
(4 -5

Options :

212807112717. 1
212807112718.2
212807112719. 3
212807112720. 4
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F =2 3
Match List - I with List -II. If A= |2 1 -1
4 -3 2
List -1 List - II
(A) My, Oy -17
(B)  Agpptap (Im -1
Q) A () o
(D) aj3Aqp+aniy tazAs (Iv) 12

Choose the correct answer from the options given below :
(1) (A1), B)-0), (©O)-1V), (D))

(2) (A1, B)-@V), (©)-(D), (DI
(3) (A, (B)-(I), (O-(I1D), (D)-(
(4)  (A)-UD, B)-IV), (O-), (D)-

Options :

212807112721. 1
212807112722.2
212807112723.3
212807112724. 4

)
V)
-(D)

Question Number : 21 Question Id : 21280728181 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ2




3 2 B

Ffg A=[2 1 —1| 99 Gt - [ q91 Tt - 11 =l FHferd = -

4 -3 2
Tl - 1 Tt - 11
(A M23 (D —-17
(B) Agptag (L) 1
) A (IIl) O
(D) ajzAptagAy, +agsAs, (Iv) 12

I fou T fgsedl § 9 W& 3T 1 =94 HifS)

(1) (A)-D), (B)-1), (O-IV), (D)-(II)
(2) (A)()()(IV)()()()()
3)  (A)-(I), (B)-(II), (O)-(I1), (D)-(IV)
(4)  (A)- (HI) (B)-(IV), (©O)-(11), (D)-(I)
Options :

212807112721. 1
212807112722.2
212807112723.3
212807112724. 4

Question Number : 22 Question Id : 21280728182 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2

The number of square matrices of order 2 using numbers 1 and —1 exactly once and the number
0 twice is :

(1) 24
(2) 09
3) 12
4) 6

Options :

212807112725. 1
212807112726.2
212807112727.3
212807112728. 4

Question Number : 22 Question Id : 21280728182 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2




1@ —1 1 %ael 1 9K a1 0 i 2 91 STAN e 2 Fife & =0 7178 wt dem € .

(1) 24
(2) 09
3) 12
(4) 6
Options :

212807112725. 1
212807112726. 2
212807112727.3
212807112728. 4

Question Number : 23 Question Id : 21280728183 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ2

3x -7 3 2
Let 1 4 b= 4 e then value of x is :

—5
n
2 1
@) -1

2
4 3
Options :

212807112729. 1
212807112730. 2
212807112731. 3
212807112732. 4

Question Number : 23 Question Id : 21280728183 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2
3x -7| |3 2 ,
AL g Ty | IR E
%
m
(2) 1
3) -1
W
(4

Options :



212807112729. 1
212807112730. 2
212807112731. 3
212807112732. 4

Question Number : 24 Question Id : 21280728184 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

acosf bsin® 0

The value of the determinant |[—bsin® acosd 0| is:

0 0 ¢
(1) (a2+Db3)c
(2) (a2cos20 +b3sin6)c
(3) (a®cos®0 —b?sin?0)c
4) (@2+b?)c?
Options :

212807112733. 1
212807112734.2
212807112735.3
212807112736. 4

Question Number : 24 Question Id : 21280728184 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ2

acos® bsin® 0
HforE [—bsin® acos® O HIHM T :

0 0 c
(1) @ +b3)c
(2)  (acos0 + bZsinZ6)c
(3) (a%cos20 —b3sin?0)c
(4) (a?2+b?)c?
Options :

212807112733. 1
212807112734. 2
212807112735.3
212807112736. 4

Question Number : 25 Question Id : 21280728185 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ2




If the points (2, 1), (—1, 4) and (a, 3) are collinear then the value/(s) of a is/ (are) :
(1) 1.2

2) 3,0

3) 0

4) 2,1
Options :

212807112737. 1
212807112738.2
212807112739. 3
212807112740. 4

Question Number : 25 Question Id : 21280728185 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2

Tf fag (2, 1), (—1,4) T (a, 3) TET & 99 a F/F T ¥
(1 1,2

2 3,0

3 o

4) 2,1
Options :

212807112737. 1
212807112738.2
212807112739. 3
212807112740. 4

Question Number : 26 Question Id : 21280728186 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2
T2 x=1
The points of discontinuity of the function f defined by f(¥) = x—=2 1<x<2 are:
0 x=2
(1) Oand1
(2) land?2
3) 1
(4) 2
Options :

212807112741. 1
212807112742.2
212807112743. 3
212807112744. 4

Question Number : 26 Question Id : 21280728186 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2
x+2 ¥-=1
e f o eTdiderd & foeg, SRl f(v) = {x -2 1<x<2 §:
0 =2
(1) odern1
(2) 192
3) 1
(4) 2
Options :
212807112741. 1

212807112742.2
212807112743.3
212807112744. 4

Question Number : 27 Question Id : 21280728187 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2
dy
If cosy =xcos(a+y), then — =
dx
cosz(a +y)
o — ="
sina
e
sin”(a + y)
Bl =
sina
2
cos™(a +vy)
@) ——
cosa
sinz(a + 1)
4 —
cosa
Options :

212807112745. 1
212807112746. 2
212807112747.3
212807112748. 4

Question Number : 27 Question Id : 21280728187 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ2




dy _

(g cosy=xcos(a +v), = i

(1) cosz(a + 1)

sina

sinz(a + 1)

sina
2
cos"(a+y)
©) cosa
o
sin“(a +1
cosa

Options :

212807112745. 1
212807112746. 2
212807112747.3
212807112748. 4

Question Number : 28 Question Id : 21280728188 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

T
The value of C which satisfies Rolle’s Theorem for f(x) =sinx + cos*x in [Df E} . Then Cis:

O
@ 3
I
@ <
Opions

212807112749. 1
212807112750. 2
212807112751. 3
212807112752. 4

Question Number : 28 Question Id : 21280728188 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ2




C 1 98 HH, Sl SF=<el [U: g] T e flx) =sintx+costy F A I vl 1 Fenfug A e a9 C &

i e
@
& 5
@ -

212807112749. 1
212807112750. 2
212807112751. 3
212807112752. 4

Question Number : 29 Question Id : 21280728189 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

Angle between tangents to the curve y=x2—5x+6 at the points (2, 0) and (3, 0) is :
(1) 0°

(2) 45°
(3) 60°
(4) 90°

Options :

212807112753. 1
212807112754.2
212807112755.3
212807112756. 4

Question Number : 29 Question Id : 21280728189 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2
s y=x2—5x+6 % fagsll (2, 0) a1 (3, 0) W =49l Ywedi & = w1 F0 T
(1 o°
(2) 45°
(3) 60°
(4) 90°
Options :

212807112753. 1



212807112754.2
212807112755.3
212807112756. 4

Question Number : 30 Question Id : 21280728190 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2

The rate of change of the area of a circular disc with respect to its circumference when radius is
Fi51

(1) 6 unit

(2) 3 unit

(3) 6 unit

(4) 27 unit
Options :

212807112757. 1
212807112758. 2
212807112759. 3
212807112760. 4

Question Number : 30 Question Id : 21280728190 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2

T Jairg Tewh & awal J uify & griel ufieds ol & ¢ S B3 8 :
(1) 6 3
(2) 3w
(3) 6w IHE
(4) 2w HE

Options :

2128071127571
212807112758.2
212807112759. 3
212807112760. 4

Question Number : 31 Question Id : 21280728191 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2




The interval in which the f(x) =sinx—cosx, 0 = x = 27 is strictly decreasing is :

o
o (b 3pE)
o (27

o [

Options :

212807112761. 1
212807112762.2
212807112763. 3
212807112764. 4

Question Number : 31 Question Id : 21280728191 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ2

9% JHaud S8 we f{x) = sinx —cosx, 0 < x < 2 T g9HE ¥

o (5%)

(4) [0, S—Tr)u[ﬁ, 211')
4 4

Options :

212807112761. 1

212807112762.2

212807112763. 3
212807112764. 4

Question Number : 32 Question Id : 21280728192 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ2




3
The value of ‘“236 — 6| dx is :

0
9
L -3
19
B =
3 9
(4) -3
Options :

212807112765. 1
212807112766. 2
212807112767.3
212807112768. 4

Question Number : 32 Question Id : 21280728192 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ2

3
fl2x — 6l dx A R :

Options :

212807112765. 1
212807112766. 2
212807112767.3
212807112768. 4

Question Number : 33 Question Id : 21280728193 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ2




@ o+t +c

1
B —a*+1t+C

Options :

212807112769. 1
212807112770.2
212807112771.3
212807112772. 4

Question Number : 33 Question Id : 21280728193 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5§ Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2
dx
R [ SR E :
2t +1)4

x4

1

o {g]‘* S
1

(@ *+1t+C

1
B —@*+1)t +C

Options :

212807112769. 1
212807112770.2
212807112771.3



212807112772. 4

Question Number : 34 Question Id : 21280728194 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ2

The area of the shaded portion
Yy

x2+ 12 =4x

y2=2x

is :

Options :

212807112773. 1
212807112774.2
212807112775.3
212807112776. 4

Question Number : 34 Question Id : 21280728194 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ2




i
x2+y2=4x
x- X
y2=2x
y
0 [ Yoree
o (3ee) o
o (3-8 wiee
@ (5+3) i
Options :

212807112773. 1
212807112774.2
212807112775.3
212807112776. 4

Question Number : 35 Question Id : 21280728195 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ2

Area of the region bounded by y=-1, y=2, x=y3 and x=01is :

13
(1) 7 59 units
15 .
(2) 7 59 units
17 .
(3) 1 59 units
19 .
(4) T 59. units

Options :
212807112777. 1
212807112778.2



212807112779.3
212807112780. 4

Question Number : 35 Question Id : 21280728195 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2
y=—1,y=2 x=1° 9 x=0 R fR &3 =1 &% ¥ :
13
(1) - =
15
(2) | T
17
(@) — T
19
(4) - T &S

Options :

212807112777. 1
212807112778.2
212807112779. 3
212807112780. 4

Question Number : 36 Question Id : 21280728196 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

The differential equation whose solution is Ax2+By2=1 where A and B are arbitrary constant is
of :

(A) first order and first degree

(B) second order and first degree
(C) second order and second degree
(D) second order

Choose the correct answer from the options given below :

(1) (D) Only

(2) (O and (D) Only
(3) (B) and( ) Only
(4) (A) Onl

Options :

212807112781. 1
212807112782. 2
212807112783.3
212807112784. 4



Question Number : 36 Question Id : 21280728196 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

o€ ATkl THIHU fTGehT B Ax2+ By2 =1 € STél A 99T B W5 3T=R &, &7l :
(A) YH Fife 91 999 91d

(B) fadrg #ife gon gem oG

(C) Tadtg =ife qen fgda =ma =

(D) fadfta =hrfe

=9 fou T faskedi § 9 W&t S 1 994 Sife |

(1) 9@ (D)

(2) e (C) ¥R (D)
(3) = (B) ¥R (D)
(4) T (A)
Options :

212807112781. 1
212807112782.2
212807112783.3
212807112784. 4

Question Number : 37 Question Id : 21280728197 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ2

d
Integrating factor of the differential equation (1 — yz)_x +xy=ay is:

dy

_&
1) 12,

o
@ J2-1

L
® -1

1

(4) P y2
Options :

212807112785. 1
212807112786. 2
212807112787. 3



212807112788. 4

Question Number : 37 Question Id : 21280728197 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ2

sterehet T (1 — y2) X+ xy = ay 1 G O R

dy

1
1) 1-,2

1
@ J7-q1

1
® T

-

(4) 11— y2
Options :

212807112785. 1
212807112786. 2
212807112787. 3
212807112788. 4

Question Number : 38 Question Id : 21280728198 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ2




— A M N — N M A
Let a =4i — j +3k and b =27 + j —2k. Then

_)
(A) a is a unit vector

A

—3 A M
X b=—i+2j+2k

=
a

- —
(C) a and b are parallel vectors

- -
(D) a and b are neither parallel nor perpendicular vectors

Choose the correct answer from the options given below :
(1) (B) and (C) Only

(2) (C) and (D) Only
(3) (D) Only

(4) (B) and (D) Only

Options :

212807112789. 1
212807112790. 2
212807112791. 3
212807112792. 4

Question Number : 38 Question Id : 21280728198 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

= M ) A — A it A
AT a =4i — j +3k @ b =-24 + j — 2k 9

(A) a TF T W

N

— A M
Xb=—i+2j+2k

-
a

(B)
(C) 2aduM b TAR TRV

(D) a @1 b A& TR & 7 & e
=1 feu TTu fashedl H ¥ W& ST 99 hifau |

(1) <&a (B) @1 (C)
(2) ad (C) 991 (D)
(3) #9d (D)

(4) ad (B) 941 (D)
Options :

212807112789. 1



212807112790. 2
212807112791. 3
212807112792. 4

Question Number : 39 Question Id : 21280728199 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2
- — — — — — — —
Let a and b be two unit vectors. If the vectors ¢ =5a —4b and d = a +2b are

— —
perpendicular to each other, then the angle between a and b is:

1) 0
& 5
O
@ -
Optons:

212807112793. 1
212807112794.2
212807112795. 3
212807112796. 4

Question Number : 39 Question Id : 21280728199 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

— . " — — — —

U adel b < THE 9w ¥ A ¢ =5a —4b A d =
— »

2T p S ALY

1) 0
@ w
G 5
(4 =

212807112793. 1
212807112794.2
212807112795. 3
212807112796. 4



Question Number : 40 Question Id : 21280728200 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5§ Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

The equation of plane which cuts equal intercepts of unit length on the coordinate axes is :
(1) x+y+z=3
(2) x+y—z=1
(3) x+y+z=1
(4 x+y+z=0
Options :
212807112797. 1
212807112798. 2

212807112799. 3
212807112800. 4

Question Number : 40 Question Id : 21280728200 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

IH HHAA HT GHIHT S i 18l | 3T o o §HH ST @US Shiedl §/8 B
(1) x+y+z=3

(2) a+y—z=1

(3) a+yt+z=1

(4) x+y+z=0

Options :

212807112797. 1

212807112798. 2

212807112799. 3
212807112800. 4

Question Number : 41 Question Id : 21280728201 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2

t
If the straight lines x=1+s, y=—-3—As, z=1+Asand ¥ = X y=1+t z=2—t with parameters s

and t respectively, are coplanar, then \ is equal to :

1) 3
(2) -2
3) -1
4 5
Options :

212807112801. 1
212807112802. 2




212807112803. 3
212807112804. 4

Question Number : 41 Question Id : 21280728201 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

afe W@ x=1+s,y= —3—2\s, z—1+;\sa9ﬂx—— y=1+t z=2—t & s U1 t U= &, GHTADT §

qa O\ TR B -
1 3

2 -2

3 -1

(4) 5
Options :

212807112801. 1
212807112802. 2
212807112803. 3
212807112804. 4

Question Number : 42 Question Id : 21280728202 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2
Match List - I with List - IL
List - 1 List - II
(A) The common region determined by all the constraints  (I)  objective function
of LPP is called
(B) Minimize z=cxy+CpX5+.....+C X, 18 (I) convex set
(C) A solution that also satisfies the non-negative (IlT) feasible region
restrictions of a LPP is called
(D) The set of all feasible solutions of a LPP is a (IV) feasible solution

Choose the correct answer from the options given below :
(1) (A)-(0), (B)-(II), (O)-(IV), (D)-(ID)

(2)  (A)-D), (B)-1V), (C)-(), (D)-(I1I)
(3)  (A)-(TI), (B)-(T), (O)-(1V), (D)-(I)
(4)  (A)-(IV), (B)-(II), (O)-(I), (D)-(I)
Options :

212807112805. 1
212807112806. 2
212807112807. 3
212807112808. 4

Question Number : 42 Question Id : 21280728202 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Question Key Details :

Key Value

Comprehension MCQ2

T - 1 d9 gt - 11 %1 gaferd L -
e - 1 T - 11

(A) LPP % @it el ¥ fftfa svafrs & weamm ) (I) o W
(B) TATH z=cyx; +Cp¥pt .t X, Tl (I) 3FaqE qY=a
(C) LPP % HUrR s1adiell o1 off S A ardll 8 heal & | (1) gETd &5
(D) LPP % Teft GETH gl &1 9= ¢ | (IV) FHTd 8

A feu U fasredi § 9 HE S 9 994 Sife |

(1) (A1), (B)-(I1I), (O)-(IV), (D)-(II)
(2)  (A)-(1D), (B)-(IV), (C)-(1), (D)-(I1)
(3)  (A)-MD, (B)-(1), (O)-(AV), (D)-(IT)
(4)  (A)-(IV), (B)-(III), (O)-II), (D)-(I)
Options :

212807112805. 1
212807112806. 2
212807112807. 3
212807112808. 4

Question Number : 43 Question Id : 21280728203 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2
20 45
If corner points of a feasible region are (0, 0), (2, 0) 9 19 and (0, 3), then

(A) Maximum value of z=>5x +3y is 10
(B) Minimum value of z=5x+3yis 0

235
(C) Maximum value of z=5x+3y is ET) and minimum value is 0

(D) Maximum value of z=>5x+3y is 10 and minimum value is 0
Choose the correct answer from the options given below :

(1) (A) and (D) Only

(2) (B) and (D) Only

(3)  (B) and (C) Only

(4)  (A) (B) and (D) Only

Options :

212807112809. 1
212807112810. 2
212807112811.3
212807112812. 4



Question Number : 43 Question Id : 21280728203 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

afg gETd &3 & e fag (0, 0), (2, 0) Gg i]am(o,:a)%

(A) z=5x+3y & AfHTH T4 10 F1
(B) z=5x+3y % =AaH HHE 0 T

235
(C) z=>5v+3y i siferam A —= 1 2T /A 0 B |

(D) z=>5x+3y 1 IHTH AF 10 T =[FdH TH 0 |
A= feu e fosredi § 9 A& IR F T4 Hifew |

(1) = (A) 991 (D)

(2) ha (B) 91 (D)

(3) e (B) @ (C)
(

(4) e (A), (B) @ (D)

Options :

212807112809. 1
212807112810.2
212807112811. 3
212807112812. 4

Question Number : 44 Question Id : 21280728204 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

16
If in a binomial distribution n=4, P(X=0) = a1 then P(X=4) equals :

1
W
1
(2 5
1
)
1
4 3

Options :
212807112813. 1



212807112814.2
212807112815. 3
212807112816. 4

Question Number : 44 Question Id : 21280728204 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

7fg el 5o &eF d n=4, P(X=0)= %,HHP(X=4) T @

1
M e
1
2) o
1
(®) 5
1
4 3
Options :

212807112813. 1
212807112814.2
212807112815.3
212807112816. 4

Question Number : 45 Question Id : 21280728205 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

A and B throw a die alternatively till one of them gets a number more than 4 and wins the game.
Then the probability of winning the game by B, if A starts first :

2
1 3
3
@ 3
1
® 3
4
4 3
Options :

212807112817. 1
212807112818.2
212807112819.3
212807112820. 4



Question Number : 45 Question Id : 21280728205 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

A T B IHI-91 9 Ush UH ] 39T & 99 T 6 370 9 FE U TH W4 § Ay g & ©@d & Sid
Ad 21 afe A T F1 URET FL dl B F @l HI Sidd i YR 2

2
1 3
3
2 3
1
G 3
4
4 3

Options :

212807112817. 1
212807112818. 2
212807112819. 3
212807112820. 4

Sub-Section Number : 2
Sub-Section Id : 2128072060
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 46 Question Id : 21280728206 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl1
The inverse of the function f: R — R given by flx)=2x+7 is :
(1) 2(x+7)
5 x+ 7
@ S
3) x-7
i X—F
@ =
Options :

212807112821. 1
212807112822.2
212807112823.3
212807112824. 4

Question Number : 46 Question Id : 21280728206 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :



Key Value

Comprehension Compl
WA f: R — R SR flx) =2x+7 & aftenfod 2 o1 gfoedm &
(1) 2(x+7)
b
L
3) x-7
B
@ =
Options :

212807112821. 1
212807112822. 2
212807112823.3
212807112824. 4

Question Number : 47 Question Id : 21280728207 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Compl
X~ 9 x# 3

If fx)=9x-3"7 then f(x) :
5 ,x=3

(1) is continuous at x=3

(2) has removable discontinuity at x=3
(3) has irremovable discontinuity at x=3
(4) continuous at every real number

Options :

212807112825. 1
212807112826. 2
212807112827.3
212807112828. 4

Question Number : 47 Question Id : 21280728207 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Compl




2
-9
& X+ 3

€ f(x)=4 x-3 a9 fx)
B L.x=3

(1) x=3 R Gad |
(2) x=3 W YT A ¥
(3) x=3 W FFYAT FHqd T

(4) U grEafas HE W Had ¢

Options :

212807112825. 1
212807112826. 2
212807112827.3
212807112828. 4

Question Number : 48 Question Id : 21280728208 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl

1
The integral jx(l —x)" dx is equal to :
0

1
1) @m+2)n+3)

1
2 @m+Dm+2)

1
(3) n(n+1)

1
@ w-Dm-2)

Options :

212807112829. 1
212807112830. 2
212807112831. 3
212807112832. 4

Question Number : 48 Question Id : 21280728208 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Comp1




1
@mﬁﬂ ﬁu—dexamﬂ%:
1]

1
D) @+2)n+3)

1
2 @+)n+2)

1
G A@m+1)

1
@ @w-Dm-2)

Options :

212807112829. 1
212807112830. 2
212807112831. 3
212807112832. 4

Question Number : 49 Question Id : 21280728209 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension Compl

— 2 A N A —* FAS N A
The set of value of x for which the angle betweenthe a =2x"i +4xj + kand b =7i —2j +xk
is obtuse is :

w03
@[3

—, =
3 1573
4 ©1

Options :
212807112833. 1
212807112834.2
212807112835.3
212807112836. 4

Question Number : 49 Question Id : 21280728209 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension Compl




x % &8 HHI 1 gg=Y 5 fod a =227 +4x?+ k ae _b>=7?—2? + xk o= B B o
ﬁ?%,%}l‘ﬂ:

o (o1
o o2

5 (1 1]
i et S
3) 1373
@ O
Options :
212807112833. 1
212807112834.2
212807112835. 3
212807112836. 4

Question Number : 50 Question Id : 21280728210 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl

Pl g2 Z+4an

The shortest distance between the lines = = d is:
1 2 3 -3 2 4
197
1) 779
197
2 o1
. 197
(3) /189
197
4 37
Options :

212807112837. 1
212807112838.2
212807112839. 3
212807112840. 4

Question Number : 50 Question Id : 21280728210 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Compl1




Y s 7 — q

® T

4 A

Options :

212807112837. 1
212807112838.2
212807112839. 3
212807112840. 4

Applied Mathematics
Section Id : 212807719
Section Number : 3
Section type : Online
Mandatory or Optional : Optional
Number of Questions : 35
Number of Questions to be attempted : 25
Section Marks : 125
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2128072061
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 51 Question Id : 21280728211 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

If x is the least positive integer satisfying 100 =x(mod 6) , then (2x+1) is equal to :

1 7
2 5
3 9
(4) 11
Options :

212807112841. 1
212807112842.2
212807112843. 3
212807112844. 4



Question Number : 51 Question Id : 21280728211 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5§ Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3
IS x F[ATH YA Gk & S 100 =x(mod 6) 1 TI= HIA & T (2u+1) S T -
(1) 7
2 5
(3 9
4) 11
Options :

212807112841. 1
212807112842.2
212807112843.3
212807112844. 4

Question Number : 52 Question Id : 21280728212 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3

1
The quantity of water that must be added to 36 litres of milk at 25 litres for ¥ 120 so as to have

mixture worth X 36 for a litre is :
(1) 12 litres
(2) 10 litres
(3) 15 litres
(4) 20 litres

Options :

212807112845. 1
212807112846. 2
212807112847.3
212807112848. 4

Question Number : 52 Question Id : 21280728212 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3




7fg 2% SeX g4 o god T 120 ¥ 1 36 Tz g4 § arit &t == forat faemt smo o fhgor <61 g1 236
g et &1 9H -

(1) 12 &
(2) 10 e
(3) 15 dieX
(4) 20 @i
Options :

212807112845. 1
212807112846. 2
212807112847. 3
212807112848. 4

Question Number : 53 Question Id : 21280728213 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

A motor boat covers 16 km in 2 hours downstream and 14 km in 2 hours upstream. The speed of
the motor boat is :

(1) 0.5 km/hr

(2) 5 km/hr

(3) 8 km/hr

(4) 7.5 km/hr
Options :

212807112849. 1
212807112850. 2
212807112851. 3
212807112852. 4

Question Number : 53 Question Id : 21280728213 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3

e HIT 71 HAYaE § 2 502l H 16 fordl. gl 7 tdl € 921 Seduare | 2 9vef # 14 fopdl. g 99 wd!
® 99 HieX T8 i 9 €

(1) 0.5 fepst. /=0
(2) 5 ferHL /=weT
(3) 8 fermit. /=0
(4) 7.5 ferrit. /=v
Options :

212807112849. 1
212807112850. 2
212807112851. 3



212807112852. 4

Question Number : 54 Question Id : 21280728214 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3

Two pipes A and B can fill a cistern in 15 minutes and 30 minutes respectively. Both pipes are
opened together, but after 5 minute pipe B is turned off. The cistern will be full in total :

(1) 10 minutes
(2) 7.5 minutes
(2) 15 minutes
(4) 125 minutes

Options :

212807112853. 1
212807112854. 2
212807112855.3
212807112856. 4

Question Number : 54 Question Id : 21280728214 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3

2] 9EY A 91 B U 21 &1 A9 15 fH32] 99 30 fo=ei § sy 24 € | afe <91 uedi o e 919 @ien sy
o 5 T2 918 U9 B 1 o= = foann Siran €1 d« 215 61 QU A § o 9ug ¥

(1) 10 fae

(2) 7.5 foe
(2) 15 foe
(4) 125 fiae
Options :

212807112853. 1
212807112854. 2
212807112855. 3
212807112856. 4

Question Number : 55 Question Id : 21280728215 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3




In a partnership, A invests one-fourth of the capital for one-third of the time, B invests one-third of
the capital for one-fourth of the time and C invests the rest of the capital for the whole time. Out
of a profit of ¥ 3,500, A’s share is :

(1) % 1,000
2) % 1,500
(3) % 500
(4) 2,500

Options :

212807112857. 1
212807112858.2
212807112859.3
212807112860. 4

Question Number : 55 Question Id : 21280728215 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3

T WFIERT H, A T Ysil 1 U =, Fo 999 § U fieE 999 & fad fom wa1 81 B d Isit %1 U
foer Fot Tug % Uw e gug % ol R e € 991 C ot Yoft 1 9 g 99 & ol faw Rar v
3,500 % oy H, A o feemn €

(1) % 1,000
(2) % 1,500
(3) % 500
(4) ¥ 2,500

Options :

212807112857. 1
212807112858.2
212807112859.3
212807112860. 4

Question Number : 56 Question Id : 21280728216 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3




Match List - I with List - IL

List - 1 List - II
20
(A) The solution set of the inequality —5x > 3, xeR, is (I) 7 g8
—7x 4
(B) The solution set of the inequality is, rh < =3, xeR s, 1 |7
7
(C) The solution set of the inequality 7x—4 =0, xeR is, (11I) [— ®, g}
3
(D) The solution set of the inequality 9x—4 < 4x+3, xeR is, (IV) [— %0, —g)

Choose the correct answer from the options given below :

(1) (A)-(IV), (B)-(I), (O)-(11), (D)-(II)
(2)  (A)-A1), (B)-(IV), (O)-(I), (D)-{)
(3)  (A)-av), (B)-(I), (O)-(II), (D)-(II)
(4) (A1), (B)-(IV), (O, (D)-(1M)
Options :

212807112861. 1
212807112862. 2
212807112863. 3
212807112864. 4

Question Number : 56 Question Id : 21280728216 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ3




T - 1 T Gt - 11 Aferd i
W'I -1I

(A) STEHA —5x > 3, xeR H T Gg=A B (1) {%ﬂ
F S5 R 3 F oc}
(B) WT— , Xelkepl g1 HH =4 (IT) 7"
7
(C) THHAT 7x —4=0, xeR 1 56 TY=A © (IID) (—oo, gj
3
(D) STHA 9x —4 < 4x+3, xeR T T IY=4 © (IV) [—oo, —g)

4 feu o fasedi O 9 W S 1 99 Sife |
(1) (A)-(IV), (B)-(D), (C)-(H) (D)-(I1I)

(2)  (A)-D), (B)-(IV), (O)-(0), (D)-(D)
(3)  (A)-(1V), (B)-(I), (O)-(), (D)-(I)
(4)  (A)-(I), (B)-(IV), (O-1D), (D)-(1I)
Options :

212807112861. 1
212807112862. 2
212807112863. 3
212807112864. 4

Question Number : 57 Question Id : 21280728217 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3

3 2x+5y -2] [3 10 -2

If L + 4y 7 _5}= {2 7 _5} Then the values of x and y are :
(1) x=-2,y=6

(2) «x=12, y=5

(3) x=-4,y=7

(4) x=10, y= -
Options :

212807112865. 1
212807112866. 2
212807112867. 3
212807112868. 4

Question Number : 57 Question Id : 21280728217 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

|Key Value




[Comprehension IMCQ3

3 2x+5y -2 3 10 =2

W esay 7 5|2 7 -5/ ExTAYFATE:
(1) x=-2,y=6

(2) x=12, y=5

(3) x=-4,y=7

(4) «=10, y=-2

Options :

212807112865. 1
212807112866. 2
212807112867. 3
212807112868. 4

Question Number : 58 Question Id : 21280728218 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

If A is a square matrix of order 3 and |A|=35, then |adj(adjA)| is :

(1) 125
2) 625
3) 75
4) 375
Options :

212807112869. 1
212807112870. 2
212807112871. 3
212807112872. 4

Question Number : 58 Question Id : 21280728218 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3
7fg A, 3 %ife &1 a1 34 8 91 |A|=5 T4 |adj(adjA)| B
(1) 125
(2) 625
(3) 75
(4) 375
Options :

212807112869. 1
212807112870. 2
212807112871.3
212807112872. 4

Question Number : 59 Question Id : 21280728219 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1



Question Key Details :

Key Value

Comprehension MCQ3

X —2 —Dif
If thematrix A=| 2 0 -9/ is skew-symmetric, then the value of (2x—3y +4z) is :
10 3z 0

(1)
(2)
(3)

= o W

3
(4) -2

Options :

212807112873. 1
212807112874.2
212807112875. 3
212807112876. 4

Question Number : 59 Question Id : 21280728219 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ3

X —2 —hy
g e A=| 2 0 —9| U faum guffd e § 99 (2r—3y +42) FHA B
10 32 0

—_
R
T e S
e I o AU 1 |

(4) -2
Options :
212807112873. 1
212807112874.2
212807112875. 3
212807112876. 4

Question Number : 60 Question Id : 21280728220 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ3




Ify=lo _x5 th __dzy i
= , then is,
’ & o d 2

X
-5
n =
— 3]
@
o
(3) 3
—20x°
&) —Z

Options :

212807112877. 1
212807112878.2
212807112879. 3
212807112880. 4

Question Number : 60 Question Id : 21280728220 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ3
5 2
3 d
afg y = log| 5 |, 79— % -

e dx™

1 _—5
(1) 2

— 20
@
(3) 5

92
i —20x°>
(4) 2

Options :

212807112877. 1
212807112878. 2
212807112879. 3
212807112880. 4

Question Number : 61 Question Id : 21280728221 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :



Key Value
Comprehension MCQ3

The point on the curve y>=16x for which the y-coordinate is changing 2 times as fast as the
x-coordinate is :

1) (24
(2 G2
) @4
4 (23)

Options :

212807112881. 1
212807112882.2
212807112883. 3
212807112884. 4

Question Number : 61 Question Id : 21280728221 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3
o 2 ="16x W a8 farg foment y Fdwniar, x fadenisr &1 o & 2 71 oSt § oed @1 8

1 @

2 G2
@ 14
4 (23

Options :

212807112881. 1
212807112882.2
212807112883. 3
212807112884. 4

. 4)

2
7 &

P

Question Number : 62 Question Id : 21280728222 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3

2
The total cost function for x units of a commodity is given by Gl = 207 _ 752 + 48x + 34 . The

output x at which the marginal cost is minimum is :

(1) 6
(2) 3
(3) 10
4 5
Options :

212807112885. 1
212807112886. 2
212807112887. 3
212807112888. 4



Question Number : 62 Question Id : 21280728222 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ3

. 5
ek o] i x 31l ok SCUGH I et FTd el C(x) = 2%
5

e e YT @nTd gAaq &), 2
(1) 6
2) 3
3) 10
4) 5
Options :

212807112885. 1
212807112886. 2
212807112887. 3
212807112888. 4

Question Number : 63 Question Id : 21280728223 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ3

Match List - I with List - IL

List - I List - I1
(A) The minimum value of f(x)=8x?>—4x+7 is (I) 48
1
(B) The maximum value of f(x)=x+ S/ X<0is (I) 13

(C) The maximum slope of the cure y=—2>+6x2+7x+261is () —2

128 13
(D) The minimum value of f(x)= x* + —, i V] —

Choose the correct answer from the options given below :
(1) (A)-D), (B)-(II), (C)-(1), (D)-(IV)

(2)  (A)-1V), (B)-(1L), (O)-(), (D)-(I)
(3)  (A)-(D), (B)-AV), ©)-(1), (D))
(4)  (A)-(1D), (B)-1V), (O)-1), (D)-O)

Options :

212807112889. 1
212807112890. 2
212807112891. 3
212807112892. 4

Question Number : 63 Question Id : 21280728223 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Question Key Details :

Key Value

Comprehension MCQ3

Tt - 1 a1 et - 11 o1 Gaferd i
el - I

(A)  flx)=8x2—4x+7 o FFdH HA © :
(B) flx)=x+ %,x<0$‘f sifyeRay A T

(C) ok y= —23+622+7x+26 Tl TG 1 B Hl

3ftrehaa 91 ©
128

(D) f(x) =27 +—$r?éf|ﬁﬂﬂr—r%:

e fou o fomredl § | W@ W R A |
(1) (A)-@), (B)-(I1L), (O)-(1D), (D)-(IV)
(2)  (A)-(IV), (B)-(IT), (O)-(I), (D)-(I)
(3)  (A)-I), (B) (Iv), (C )() ( )-(IID)
(4)  (A)-(II), (B)-(IV), ( , (D)-(I)

Options :

212807112889. 1
212807112890. 2
212807112891. 3
212807112892. 4

(1)

(I10)

(IV)

Question Number : 64 Question Id : 21280728224 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ3

A product costs the manufacturer ¥ 20 per unit. The demand function is given by p(x)
then the quantity for maximum profit is :

(1) 25 units
(2) 50 units
(3) 49 units
@) % units

2

Options :

212807112893. 1
212807112894. 2
212807112895. 3
212807112896. 4

=1000—20x,

Question Number : 64 Question Id : 21280728224 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5§ Wrong Marks : 1
Question Key Details :




Key Value
Comprehension MCQ3

U il st 9fd 3o 1 3cure god ¥ 20 ¢ SR "I W p(x) =1000 —20x, | S SAT § a9«
stf¥eRas @y o oy 3eure =i °T= ¢

(1) 25 3B
(2) 50 3HE
(3) 49 3HE

(4) 2w
2

Options :

212807112893. 1
212807112894. 2
212807112895.3
212807112896. 4

Question Number : 65 Question Id : 21280728225 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ3

A discrete random variable X has the following probability distribution :

X:] 0] 1] 23] 4]5
P(X)]| b | 3b | 5b | 3b | 4b | 6b

The value of bis :

1L
1) 55

1
2 3

1
®) 7
(4)
Options :

212807112897. 1
212807112898. 2
212807112899. 3
212807112900. 4

Question Number : 65 Question Id : 21280728225 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ3




TS AHad Agfegsh =¥ X & Wi %er fFefafad @

X:J 0 1] 2]3]4]5
P(X):| b | 3b | 5b | 3b | 4b | 6b

eSOk C
1

) 35
1

@ 3
1

(B) 5

(4)

Options :

212807112897. 1
212807112898. 2
212807112899. 3
212807112900. 4

Question Number : 66 Question Id : 21280728226 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

A discrete random variable X takes the values 0, 1, 2, 3, 4 and its mean is 1.6. If P(X=1)=04,
P(X=4)=P(X=2) and P(X=3)=2P(X=2), then P(X=0) is :

(1) 0.2
2) 0.1
3) 0.4
4) 0.3

Options :

212807112901. 1
212807112902. 2
212807112903. 3
212807112904. 4

Question Number : 66 Question Id : 21280728226 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3




TH AHdd Aefess X X & gruifad "M 0,1, 2, 3, 4 § a91 3H&1 HI¥4 1.6 &1 Al P(X=1)=04,
P(X=4)=P(X=2) 991 P(X=3)=2P(X=2), @ P(X=0) T :

(1) 0.2
(2 0.1
(3) 0.4
(4) 0.3
Options :

212807112901. 1
212807112902. 2
212807112903. 3
212807112904. 4

Question Number : 67 Question Id : 21280728227 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5§ Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

A telephone exchange receives on an average 5 calls per minute. The probability of receiving 3 or
less calls per minute is :

(1) 15e7>
118 _
@ e
15 _5
—_—
(3) 1
13
==z
(4) 3
Options :

212807112905. 1
212807112906. 2
212807112907. 3
212807112908. 4

Question Number : 67 Question Id : 21280728227 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ3




T TATRA TR fd o2 39 5 &ied 9T &4d1 21 d« ufd f992 3 o1 &1 e O &3 i Uifdehd
2.

(1) 152
o e
@ e
@ et
Options :

212807112905. 1
212807112906. 2
212807112907. 3
212807112908. 4

Question Number : 68 Question Id : 21280728228 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3
Match List - I with List - IL
List - I List - II
(A) In a binomial distribution, if n=10, q=0.25, then its mean is I 12
(B) If the mean of a binomial distribution is 6 and its variance (I 7.5
is 3, then p is
(C) Ina binomial distribution, the probability of getting a success (III) 16
1
is 1 and the standard distribution is 3, then its mean is
(D) If the mean and variance of a binomial distribution are (IV) %

4 and 3 respectively, then the number of trials is
Choose the correct answer from the options given below :
(1) (A)-(, (B)IV), (O-), (D)-()

(2)  (A)-AD), B)-@V), €)1, (D))
(3)  (A)-1V), (B)-(I1), (O-@), (D)-(I)
4)  (AIV), B, (©)-O), (D))

Options :

212807112909. 1
212807112910.2
212807112911. 3
212807112912. 4

Question Number : 68 Question Id : 21280728228 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Question Key Details :

Key Value

Comprehension MCQ3

Tedt - 1 a1 it - 11 1 gafed i)
ekt - 1
(A) U= fgug &eF °, afgn=10, q=0.25, 79 A=A
(B) AfS fgUg se o1 HIeH 6 € Y1 YHIVI 3 & Tl p &I 9 ¢ :

(C) e fgug sed | Awaran i Wi i%ﬁmt{mﬁﬁﬁ?ﬂ

3%, 79 THH HIHA ©

(D) AfE Tk fgug sie & HIed a1 THI0 el
493 %, 99 JAH H HeA®

= feu 7Y fasredi # 9 & 3 g4

(1) (A)-(UD), (B)-(IV), (O)-I0), (D)-(I)
(2)  (A)-(D), (B)-IV), ©)-(1), (D)-(II)
(3)  (A)N(IV), (B)-(IL), (O)-(I), (D)-(I)
(4)  (A)-IV), (B)-(1), (©)-(I), (D)-(II)

Options :

212807112909. 1
212807112910. 2
212807112911.3
212807112912. 4

Question Number : 69 Question Id : 21280728229 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : S Wrong Marks : 1

@
(11)

(I10)

(IV)

12
ries

Question Key Details :
Key Value
Comprehension MCQ3

If Paasche’s index number is 160 and Laspeyre’s index number is 250, then Fisher’s index number

i5:

(1) 150
(2) 200
(3) 300
(4) 80
Options :

212807112913. 1
212807112914. 2
212807112915. 3
212807112916. 4

Question Number : 69 Question Id : 21280728229 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

|Key Value




[Comprehension IMCQ3

7fE a1 FEehiE 160 T AU AT FHEF 250 T, 79 fReR gaehian

(1) 150
(2) 200
(3) 300
(4) 80

Options :

212807112913. 1
212807112914. 2
212807112915. 3
212807112916. 4

Question Number : 70 Question Id : 21280728230 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ3

The prices and the quantities of three commodities are given are :

Price (%) Quantities
Commodity|in Year|in Year|in Year|in Year
2006 2009 2006 2009

P 100 90 12 10
Q 80 x 8 7
R 60 50 4 6

The Laspeyre’s price index number for year 2009 with year 2006 as base is 200. The value of x is :
(1) 320

(2) 360
(3) 140
(4) 260

Options :

212807112917. 1
212807112918.2
212807112919.3
212807112920. 4

Question Number : 70 Question Id : 21280728230 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3




A aegedl i rad a9 weEn e geEr e R

HiAd (T) el
ay 2006 ¥|gd 2009 H [gd 2006 ¥ |[gd 2009 |

a'{-?\[)

P 100 90 12 10
Q 80 x 8 7
R 60 50 4 6

SR &9 2006 % FTUeT 5 2009 % forl TILTUER Feehich 200 ¥, 99 x I HH € :

(1) 320
(2) 360
(3) 140
(4) 260

Options :

212807112917. 1
212807112918.2
212807112919. 3
212807112920. 4

Question Number : 71 Question Id : 21280728231 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

Consider the following data :

Year 2012 | 2013 | 2014 | 2015 | 2016
Sales (in ¥ crores)| 8 10 Vg 9 12

The equation of the straight line trend by the method of least squares is :
(1) y=0.7+9.5x

(2) y=10.3+0.5x

(3) y=92+0.7x

(4) y=11.54+0.6x

Options :

212807112921. 1
212807112922. 2
212807112923.3
212807112924. 4

Question Number : 71 Question Id : 21280728231 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ3




frefarfiga ofierel W fa=ar i -

=

2012

2013

2014

2015

2016

IEEIREETIER:)

8

10

7

9

12

a9 wgan o faftr g s T w1 wHEw ©

(1) y=0.7+9.5x
(2) y=10.3+0.5x
(3) y=9.2+0.7x
(4) y=11.5+0.6x

Options :

212807112921. 1
212807112922.2
212807112923. 3
212807112924. 4

Question Number : 72 Question Id : 21280728232 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

Consider the following hypothesis test :

Hy:p =20

Hy:ipn>20

A sample of 81 produced a sample mean of 20.55.

value of the test statistic is :

(1) 1.85
() -2.05
3) -2.15
(4) 1.65

Options :

212807112925. 1
212807112926. 2
212807112927.3
212807112928. 4

The population standard deviation is 3. The

Question Number : 72 Question Id : 21280728232 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5§ Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3




frefarfiaa gt odem o fagr &1 :

Hy:p =20

Hy:p>20
ST 81 FTe Uk Waeyl =1 wfaeyl |ed 20.55 € e gafe ame fa=em 3 €, 99 giew gfaesfs ‘¢ &1 9m
i

(1) 1.85
2) -2.05
3) -2.15
(4) 1.65
Options :

212807112925. 1
212807112926. 2
212807112927. 3
212807112928. 4

Question Number : 73 Question Id : 21280728233 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

A simple random sample consists of four observations 7, 8, 10, 7. The point estimate of population
standard deviation is :

3
D) 5
2) 3
3) 25
4 2

Options :

212807112929. 1
212807112930. 2
212807112931. 3
212807112932. 4

Question Number : 73 Question Id : 21280728233 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ3




Teh | Agf=seh gfaesl o =R’ G401 7, 8, 10, 7 € a9 HHfte Hih fo=er 1 sieha fag 2

3
1) 3
2) 3
3) 25
(4) 2

Options :

212807112929. 1
212807112930.2
212807112931.3
212807112932. 4

Question Number : 74 Question Id : 21280728234 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value

Comprehension MCQ3

Match List - I with List - IL

List - I List - II

(A) A special characteristic of a population is called (I) Sample Size
(B) The number of statistical individuals in a sample is called (II) Statistic

(C) A special characteristic of a sample is called (IIl) Standard error
(D) The standard deviation of the sampling distribution (IV) Parameter

of a statistic is known as its
Choose the correct answer from the options given below :
(1) (A)-D), BHIV), (O-I), (D))

(2)  (A)-(IV), (B)-(D), (O)-(II), (D)~(I1I)
(3)  (A)-D), (B)-(II), (©)-(IV), (D)-(I)
(4) (A, (B)-(1), (O-(IV), (D)-(II)
Options :

212807112933. 1
212807112934.2
212807112935. 3
212807112936. 4

Question Number : 74 Question Id : 21280728234 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ3




AT - 1 991 ot - 11 <1 Hferd i
Tl - 1 - 11
(A) TEfte 1 fagmw sifvensfores Feem €, (
(B) U ufded # wiferrra safic wmansill #i T wear €, (1) wfagerst
(C) e ufireyt =1 ferdiw stfirenefors weerd 8, (
(D) ufieei= & gfaesl sie o1 AFE fo=e 39 YHR ST ST &, (
A= feu 7Tu faskedl H & W&t 39 A |
() (A)-(D), (B)-(W) (©)-(1D), (D)-(1I)

(2)  (A)-(IV), (B)-(D). (O~1D), (D)-(IIT)
(3)  (A)-(10), (B)-(II), (©)-(1V), (D)-()
(4)  (A)-I), (B)-(I), (O)-(1V), (D)-(II)
Options :

212807112933. 1
212807112934.2
212807112935. 3
212807112936. 4

Question Number : 75 Question Id : 21280728235 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ3

The present value of a perpetual income of ¥ x paybale at the end of each 6 months is ¥ 1,80,000. If
the money is worth 5% compounded semi-annually, then the value of x is ¥ :

(1) 4500
(2) 7500
(3) 9000
(4) 4250
Options :

212807112937. 1
212807112938.2
212807112939. 3
212807112940. 4

Question Number : 75 Question Id : 21280728235 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ3




T x I VEEd 3™ S Y% 6 U o 3id H <F 8, 1 SaHH Hed 21,80,000 1 AT o 5% Thdfs
AR XY TG WS TA xR AAIH

(1) 4500
(2) 7500
(3) 9000
(4) 4250

Options :

212807112937. 1
212807112938.2
212807112939. 3
212807112940. 4

Question Number : 76 Question Id : 21280728236 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3
A person buys a flat for which he makes down payment of ¥ 7,50,000 and the balance is to be paid
in 10 years by monthly instalments of ¥ 22,000 each. If the bank charges interest at the rate of 12%
per annum, then the actual price of the flat using flat rate system is :

(1) % 20,50,000
(2) ¥19,50,000
(3) %22,00,000
(4) 2 18,50,000

Options :

212807112941. 1
212807112942. 2
212807112943. 3
212807112944. 4

Question Number : 76 Question Id : 21280728236 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3

T Ao Tk Rl Tlea § fger fod 5 77,50,000 %1 310 1o &ar € @en 9w uf¥r 222,000 =
e foredl § 10 anf § geman § afg § 12% aifife @ ¥ oI agea € a9 fer  fafy @ we =
AT T ©
(1) Z20,50,000
(2) %19,50,000
(3) 22,00,000

(4) %18,50,000

Options :

212807112941. 1
212807112942.2
212807112943. 3
212807112944. 4




Question Number : 77 Question Id : 21280728237 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ3

A car costing ¥ 8,00,000 has scrap value of ¥ 3,00,000. If the book value of car at the end of fourth
year is ¥ 6,00,000, then the useful life of the car is :

(I) 6 years

(2) 12 years

(3) 10 years

(4) 8 years

Options :

212807112945. 1
212807112946. 2
212807112947.3
212807112948. 4

Question Number : 77 Question Id : 21280728237 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

s R feTEeRt SiAd T 8,00,000 =1 AU=fd He1 €3,00,000 81 A4 a6 & 310 H FR F (K oI
% 6,00,000 € T8 FR H SR T :

(1) 699

(2) 127@W

(3) 10«9

(4) 8d
Options :

212807112945. 1
212807112946. 2
212807112947.3
212807112948. 4

Question Number : 78 Question Id : 21280728238 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3

The minimum value of z=23x+ 6y subject to the constraints 2x +3y<180, x +y=60, x =3y, x=0,
y=0is:

(1) 225
(2) 180
2) 270
(4) 250



Options :

212807112949. 1
212807112950.2
212807112951. 3
212807112952. 4

Question Number : 78 Question Id : 21280728238 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3

FrELH] 2x +3y<180, x+y =60, x=3y, x=0, y;[]% Si?lijfﬂz=3x+6y$7 ~AdHq HH %* :
(1 222

(2) 180
(2) 270
(4) 250

Options :

212807112949. 1
212807112950. 2
212807112951. 3
212807112952. 4

Question Number : 79 Question Id : 21280728239 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

A carpenter earns a profit of ¥ 50 and % 80 on one chair and one table respectively. The requirement
and availability of wood and labour are tabled as :

Required| Chair | Table Avai]a'ble
quantity
Wood 3 3 150
Labour 1 2 56

The number of chairs and tables in appropriate units to be manufactured for maximum profit are,
respectively :

(1) 0,28
2) 50,0
(3) 20,18
(4) 0,30
Options :

212807112953. 1
212807112954.2
212807112955.3
212807112956. 4

Question Number : 79 Question Id : 21280728239 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :



Key Value

Comprehension MCQ3

TS =gs Ueh HH] a1 Tk HSl G AL ¥ 50 991 % 80 o1 1Y AN & | kel o 4THE i STEgdehdl adl

sifereRam @y o fora ffda FfEEl e il 1 sfaa sl =1 e wau: @

SUCTIAT dTfereh] 7 JahR ® :

SqETE | HEl sl | U= HE
AFS 3 5 150
gfqes 1 2 56

(1) 0,28
(2) 50,0
(3) 20,18
(4) 0,30
Options :

212807112953. 1
212807112954.2
212807112955. 3
212807112956. 4

Question Number : 80 Question Id : 21280728240 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3
Match List - I with List - I
List - 1 List - IT

(A) The common region determined by all the linear

constraints of a L.P.P. is called

(B) A point in the feasible region which is the intersection

of two boundary lines is called,

(C) The feasible region for an LPP is always a
(D) The constraints x, =0 describes that the

variables involved in a LPP are

Choose the correct answer from the options given below :

(1) (M-, (B)-II), (C)-(IV), (D)-(ID)
(2) (M)A, (B)-I1I), (O-(II), (D)-(IV)
(3)  (A)-IV), (B)-(II), (C)-(D, (D)-(IM)
(4) (A, (B)-(I), (O-IV), (D)-(IT)

Options :

212807112957. 1
212807112958.2
212807112959. 3
212807112960. 4

corner point
non-negative

feasible region

convex polygon



Question Number : 80 Question Id : 21280728240 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

it - 1 21 gt - 11 =1 gaferd i |
el - 1 -1
(A) T @ IR FHE (LPP) % 9+t s sqedidi (I) = fog

&1 SIS &5 el § :
(B) HETT &5 1 9@ feirg il &1 HiA W@ & gfdwsg (I) kIR
%,W%:
(C) T LPP = GETd & 9ed ol & : (1) g &=
(D) =T x, y=0 T € foF LPP # wftmfed == € : (IV) ST9E TgE

s foew T fersent A @ T ST

(1)  (A)-1), (B)-(IIL), (C)-(1V), (D)-(I
(2) (A1), (B)-(II), (O)-(II), (D)-(IV
(3)  (A)-V), (B)-(ID), (C)-(D), (D)~
(4) (A)-(I10), (B)-(I), (O)-(IV), (D)-(IL
iy
212807112958. 2

212807112959. 3
212807112960. 4

)
)
)
)

Sub-Section Number : 2
Sub-Section Id : 2128072062
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 81 Question Id : 21280728241 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp2

The set of all positive integers less than 50 forming the equivalence class of 8 for modulo 11 is :
(1) {8, 16, 24, 32, 40, 48}
(2) {11, 22, 33, 44}

(3) 8,19, 30, 41}

(4) {8, 19, 27, 35, 43}

Options :

212807112961. 1
212807112962. 2
212807112963. 3
212807112964. 4

Question Number : 81 Question Id : 21280728241 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Question Key Details :

Key Value

Comprehension Comp?2

T 11 % o 8 it goaar avf & fafifa & art 50 F &0 qeft =7 guifenl aq== ¢ :
(1) {8, 16, 24, 32, 40, 48}

2) {11, 22, 33, 44}

(3) 8,19, 30, 41}

(4) (8,19, 27, 35, 43)

Options :

212807112961. 1
212807112962. 2
212807112963. 3
212807112964. 4

Question Number : 82 Question Id : 21280728242 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp2

If x=3at2, y=23at! then W s

X
(1) 3at
(2) 12at3
(3) 6at
4) 22
Options :

212807112965. 1
212807112966. 2
212807112967. 3
212807112968. 4

Question Number : 82 Question Id : 21280728242 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp?2

(¢ x=3at?, y=23at* 79 % g

(1) 3at
(2) 12at?
(3) b6at
(4) 22

Options :

212807112965. 1
212807112966. 2
212807112967. 3
212807112968. 4



Question Number : 83 Question Id : 21280728243 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp2

In the equation of trend line y;=a+bx, a and b represent :
(1) the mean of y and the slope of trend line respectively
(2

)  the slope of trend line and the mean of y respectively
(3) the mean of xy and the slope of tend line respectively

(4) the slope of trend line and the mean of x respectively

Options :

212807112969. 1
212807112970. 2
212807112971. 3
212807112972. 4

Question Number : 83 Question Id : 21280728243 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp2

WWﬂmyt=a+bx,ﬂﬁaﬁmbth%:
(1)  SRHST: y 1 ¥4 d21 ST T =l &

(2) SHEY: AR T @A 991y HHIA

(3)  SHW: xy 1 HIBA U1 IUATT L@ K I

(4) SHEY: YA &I % @ 991 x H HIHA

Options :

212807112969. 1
212807112970. 2
212807112971. 3
212807112972. 4

Question Number : 84 Question Id : 21280728244 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp2

If Mr. Ravi borrows a sum of ¥ 1,50,000 at an interest rate of 10% (flat) for a tenure of 3 years, then
his EMI based on above data is (approximately) ¥ :

(1) 5410
(2) 5412
(3) 5414
(4) 5417

Options :

212807112973. 1
212807112974.2
212807112975. 3
212807112976. 4



Question Number : 84 Question Id : 21280728244 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp2

A & F 21,50,000 =1 3801 10% FEer =arst o6t &2 9 3 i o Tord T | Sy a1 o STeR 9 qiiEeh
forgd (2 ) ey 2 :

(1) 5410
(2) 5412
(3) 5414
(4) 5417

Options :

212807112973. 1
212807112974.2
212807112975. 3
212807112976. 4

Question Number : 85 Question Id : 21280728245 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp2

Which of the fo]lowing statements are true ?

(A) Central limit theorem states that the sampling distribution of the mean (¥) approaches a
normal distribution as the sample size increases.

(B) As per Central Limit Theorem, when the sample size increases, the mean (¥) for the data
becomes closer to the mean of overall population.
(C) The shape of t-distribution does not depend on degree of freedom.

Choose the correct answer from the options given below :
(1) (A) (O only

(2)  (B), (©) only
(3)  (A)only

(4) (B)only
Options :

212807112977 1
212807112978. 2

212807112979. 3
212807112980. 4

Question Number : 85 Question Id : 21280728245 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension Comp2




T 4 A FF @ S W R ?

(A) w2 foag U9 % FYHER WM (v) F1 Ifaeel ded, THHTT e i ST Sl § afe gfaed
SR 5l ©

(B) =M fog W99 & STIUR 94 Wfaey SR 9 § q9 SwS 1 WieA (7) [0 9HfE % WA &
EEHEGI

(C) t- SeA =i STRfd Lot it wife W e 78 et |

fed 1 fasredi & & 9@ fashew 9+ -

(1) e (A), (O

(2) HE (B), (O

(3) e (A)

(4) 9 (B)

Options :

212807112977. 1
212807112978.2
212807112979. 3
212807112980. 4
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Question Number : 86 Question Id : 21280728246 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
|Key Value




[Comprehension IMCQ |

The potential of a uniformly charged spherical shell at a point r/2 from its centre is 5 V. The
potential at its surface is :

(Given radius of shell =r)
(1) zero
(2) 25V
(3) 5V
(4) 10V
Options :

212807112981. 1
212807112982.2
212807112983. 3
212807112984. 4

Question Number : 86 Question Id : 21280728246 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

g TH-G9H &9 H A MR @it & favg FE A r/2 g W5V T 39% Hag W fawe ¢ ¢
(T & T = 1)

(1) A
2) 25V
3) 5V
4) 10V
Options :

212807112981. 1
212807112982.2
212807112983. 3
212807112984. 4

Question Number : 87 Question Id : 21280728247 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




The capacitance of capacitor increases when :
(A) its charge increases

(B) its supply voltage decreases

(C) common area of the plates increases

(D) separation between the plates decreases
Choose the correct answer

(1) (A)and (B)

(2) (A) (B) and (O)
(3) (C) and (D)

(4) (A), (B) and (D)
Options :

212807112985. 1

212807112986. 2

212807112987.3
212807112988. 4

Question Number : 87 Question Id : 21280728247 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
Ty i wifiar agdt & 54 :

(A) THH A & & |

(B) THH Bid dleedl Fdl

(C) Tfgsht o1 SyafT= &3 sigan €
gfgmeti & fom =1 gt vt T

Wal ST FT =TI FL |

(1) (A) 3R (B)

(2) (A), (B ¥R (C)
(3) (C) ¥ (D)
4) (A), (B) R (D)
Options :

212807112985. 1
212807112986. 2
212807112987. 3
212807112988. 4

Question Number : 88 Question Id : 21280728248 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Two point charges +4 pC and —2 pC are placed at a certain distance in air. They experience an
attractive force F. If they are brought in contact with each other and then separated to the same
distance, the new repulsive force between them will be :

(1) 8F
(2) 4F
(3) F/8
(4) F/4

Options :

212807112989. 1
212807112990. 2
212807112991. 3
212807112992. 4

Question Number : 88 Question Id : 21280728248 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5§ Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

B AE +4 pC HARX—2 puC =i ag H wh Fiv=d gl W@ 740 g1 9 Teh ARRYl § F ol S99 HLd
21 At 7R T T % Truh B @ ST eI fR s g 1) ster & fea s ot i o st faeesm
EiUE

(1) 8F
(2) 4F
(3) F/8
(4) F/4
Options :

212807112989. 1
212807112990. 2
212807112991. 3
212807112992. 4

Question Number : 89 Question Id : 21280728249 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




A spherical conducting shell of inner radius r; and outer radius r, has a charge Q. A charge q is
placed at the centre of the shell. The surface charge density on outer surface of the shell is :

Q+q
411'1'22

Q-q
(2) 4'rrr22

Q+q
dm(ty - 17)

Q-q
(4) 41r(r22 - 112)

Options :

212807112993. 1
212807112994. 2
212807112995. 3
212807112996. 4

Question Number : 89 Question Id : 21280728249 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

e AR AT @idt 1 stiafies B v, q91 el 5531 r, & 99 STE9 Q B T o789 q &1 @ &
&2 H @ T e g W HAER W

Q-+ g
(1) 4:1'.122
Q-gq
(2) 411'1’22
Q+q
O @ - )
A~
(4) 411-(r22 - rlz)

Options :

212807112993. 1
212807112994. 2
212807112995. 3
212807112996. 4

Question Number : 90 Question Id : 21280728250 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5§ Wrong Marks : 1
Question Key Details :

|Key Value




[Comprehension IMCQ |

Two charges 5 pC and —2 uC (with no external field) are placed at (—9 cm, 0, 0) and (9 cm, 0, 0)
respectively. The work required to separate the two charges infinitely away from each other is :

(1) —05]

2) 05]
(3) 5]
(4) -5]
Options :

212807112997. 1
212807112998. 2
212807112999. 3
212807113000. 4

Question Number : 90 Question Id : 21280728250 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

B A 5 wC U —2 pC (fom =1 &3 &) =l A9 f6g3fi (—9 em, 0, 0) 92 (9 cm, 0, 0) W Z |
& AR N TF G Y A g4 qF A W H S1aeTE FE F

(1) -05]
(2) 05]
(3) 5]
(4) -5]
Options :

212807112997. 1
212807112998. 2
212807112999. 3
212807113000. 4

Question Number : 91 Question Id : 21280728251 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

An infinite line charge produces an electric field of 9x10° N/C at a distance of 20 cm. The linear
charge density will be :

(1) 1073 C/m
2) 1074C/m
3) 1072C/m
4) 1075C/m

Options :

212807113001. 1
212807113002. 2
212807113003. 3
212807113004. 4



Question Number : 91 Question Id : 21280728251 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5§ Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

T 3 F@g @9 20 em 0 W Tk 9x10° N/C 1 fogd &5 3691 ohal 81 {Ed A6 o aa
B

(1) 1073 C/m

2) 104 C/m

3) 1072C/m

(4) 107°C/m

Options :

212807113001. 1
212807113002. 2
212807113003. 3
212807113004. 4

Question Number : 92 Question Id : 21280728252 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Which of the following statement is correct for a potentiometer ?
(1) It cannot measure resistance

(2) It cannot measure the capacitance of a capacitor

(3) It cannot measure current

(4) It cannot measure potential difference

Options :

212807113005. 1
212807113006. 2
212807113007. 3
212807113008. 4

Question Number : 92 Question Id : 21280728252 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
e favemrdt % fau fa 7 4 59 €2

(1) =% Ffeiier &1 "9 7@ Y Feha €

(2) I Henf i enfar &1 o e R g ©
(3) & YW T A & R AT T |

(4) FE fasTeeR 1 A9 & T HHha T

Options :
212807113005. 1
212807113006. 2



212807113007. 3
212807113008. 4

Question Number : 93 Question Id : 21280728253 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
Match List - I with List - II.

List - I List - II
(A) Conductance O MBT3A7?
(B) Current density I [M-1L-3T3A2
(C) Specific resistance (m [MOL-2T9AN
(D) Electrical conductivities V) M I1L-2T13 A2

Choose the correct answer from the options given below :
(1) (A)-), B)-(I), (©)-(IV), (D)-(II)
(2)  (AxD, (B)-(ID), (©)-1), (D)-(IV)
(3)  (A)y(UD, B)-(1V), (O-(1D), (D))
4)  (A)»IV), (B)-(ID), (O)-(1), (D)-(1)

Options :

212807113009. 1
212807113010. 2
212807113011. 3
212807113012. 4

Question Number : 93 Question Id : 21280728253 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Tl - [ 1 |1y Gei-11 1 frad |
T - 1 g - 11

(A) =Tt ) [ML3T-3A-2

(B) M o (I) M-1L-3T3A2

() fafere gfads (I) [MOL-2T0 Al
fergdra =mereRan (IV) [M~1L-2T13 A2

e feremedi § | w& S T

1)  (A)-), (B)-(I1), (O)-(IV), (D)-(II)

(2)  (A)-D, (B)-(I), (O)-(I), (D)-(IV)

(3) (A)(ID), (B)-(IV), (O)-(ID), (D)-(I)

4)  (A)XIV), (B)-(I), (C)-(I), (D)-(IT)

Options :
212807113009. 1
212807113010. 2



212807113011. 3
212807113012. 4

Question Number : 94 Question Id : 21280728254 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

A bulb of 100 W glows for 6 hours a day. The units of energy consumed in 7 days would be :
(1) 2.4 units
(2) 4.2 units
(3) 600 units
(4) 4200 units

Options :

212807113013. 1
212807113014.2
212807113015. 3
212807113016. 4

Question Number : 94 Question Id : 21280728254 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

TS 100 W &1 a¢dl T & H 6 = 9 Wi g €1 7 fei # suaa sl o1 w7 2
(1) 2.4 THE

(2) 4.2 TFT

(3) 600 THE

(4) 4200 TS

Options :

212807113013. 1
212807113014.2
212807113015. 3
212807113016. 4

Question Number : 95 Question Id : 21280728255 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Ten capacitors each of 2 uF capacity were arranged in two rows such that first row contains
6 capacitors in series where as the rest were in second row. The equivalent capacitance of the
network is :

(1) ZuF
(2) 20uF
@ FuF
@) ST

Options :

212807113017. 1
212807113018.2
212807113019. 3
212807113020. 4

Question Number : 95 Question Id : 21280728255 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

29 GuifE g &1 o1 2 wF € 1 < ufad § 30 wor =Hafer fem = € % yefa dfa 3 6 genfa
gofera | & IR anfer =1 fgeta dfer o | dsH o1 Togeg aftan @

(1) ZuF
(2) 20uF
(3) 2—54@
@) guF

Options :

212807113017. 1
212807113018. 2
212807113019. 3
212807113020. 4

Question Number : 96 Question Id : 21280728256 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




Six equal resistances are connected between points P, Q and R as shown in the figure. The net
resistance will be maximum between :

P
. r
Q R
r
(1) Pand Q
(2) Qand R
(3) Pand R

(4) All points will have same resistance

Options :

212807113021. 1
212807113022.2
212807113023. 3
212807113024. 4

Question Number : 96 Question Id : 21280728256 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




F: 9 Ufadiees sl Feemgar fagsdi P, Q SR R & == § Haife fran 71 2 | el iy &= # sifereras
BT :

P
r r
Q R
I
(1) P3RQ
(2) Q@RR
(3) PeRR

(4) |t fogsll W aER gfeady 2|

Options :

212807113021. 1
212807113022. 2
212807113023. 3
212807113024. 4

Question Number : 97 Question Id : 21280728257 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The susceptibility (x,,,) and permeability (i) of a perfectly diamagnetic substance are :
(1) xu=-—-1and un=0

(2) Xm=0and p=1

3) xp=1and p=-1

4) xp=1and u=0

Options :

212807113025. 1
212807113026. 2
212807113027. 3
212807113028. 4

Question Number : 97 Question Id : 21280728257 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5§ Wrong Marks : 1
Question Key Details :

|Key Value




[Comprehension IMCQ

e o wiqereen aeid § FraeRsierdr (x,,,) T IR () €
(1) Xm=—13W p=0
(2)  Xp=0 ¥R p=1
(3) Xm=13%R p=-1
(4) xm=1 %R pn=0

Options :

212807113025. 1
212807113026. 2
212807113027. 3
212807113028. 4

Question Number : 98 Question Id : 21280728258 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

At a place, the horizontal component of earth’s magnetic field is 4 X 10 ~*T and angle of dip is 60°.
The value of horizontal component of earth’s magnetic field at the equator is :

(1) V2x10*T

(2] BxIi—*T

(3) Zero

(4) 8x1074T
Options :

212807113029. 1
212807113030. 2
212807113031. 3
212807113032. 4

Question Number : 98 Question Id : 21280728258 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Teh ¥ W, Y& 6 Frrhid & 1 Afast g2 4 x 10 74T iR A v 60° 1 fere En w gt &
T &5 1 Afas wew T

1) Vz2x10T
(2} 2sli~4T

(3) Zero
(4) 8x1074T
Options :

212807113029. 1
212807113030. 2
212807113031. 3
212807113032. 4



Question Number : 99 Question Id : 21280728259 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Match List - I with List - 1L

List - I List - II

(A) Magnetic dipole moment (I) Weber/m?2

(B) Magnetic permeability (I) Am (Ampere m)
(C) Pole strength (IIT) Henry/m

(D) Magnetic flux density (IV) Am? (Ampere m?)
Choose the correct answer from the options given below :

(1) (A)-(1V), (B)-(I), (O)-(1L), (D)-()

(2) (A1, (B)-AV), (O-(ID), (D))

(3) (A1), (B)-(IV), (C)-(ID), (D)-(I)

(4) (A1, (B)-(D), (O-(I, (D)-(IV)
Options :

212807113033. 1
212807113034.2
212807113035. 3
212807113036. 4

Question Number : 99 Question Id : 21280728259 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

oI - [l it - 1 1 e shif
Tl - 1 Tt - 11

(A) g=eE fgya sl ()  Weber/m?

(B) FShId TR () Am (Ampere m)
(C) Y g (III) Henry/m

(D) TRl T FATH (IV) Am? (Ampere m?)

9= feu e foeredi § 9 W& ST &1 999 Fif9U
(1)  (A)-(1V), (B)-(I), (O)-(I), (D)-()

(2 (A)-1D), (B)-IV), (C)-(III), (D)-()
(3)  (A)-(0), (B}-(IV), (O)-(II), (D)~(III)
(4)  (A)-(1D, (B)-(I), (O-(ID), (D)-(IV)
Options :

212807113033. 1
212807113034.2
212807113035. 3
212807113036. 4



Question Number : 100 Question Id : 21280728260 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5§ Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Ferro-magnetic materials used in transformer core must have :
(1) low permeability and high hysteresis loss

(2) high permeability and low hysteresis loss

(3) high permeability and high hysteresis loss

(4) low permeability and low hysteresis loss

Options :

212807113037. 1
212807113038.2
212807113039. 3
212807113040. 4

Question Number : 100 Question Id : 21280728260 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

TrawTR e § e ol gras gere o1 39EnT 2 €, o uy faftea s g
(1) 7= g iR 3= Sifye g™
(2) = TRl SR e Sifes g
(3) o YR SR 3= AT B
(4) 7= g iR e dforeg

Options :

212807113037. 1
212807113038.2
212807113039. 3
212807113040. 4

Question Number : 101 Question Id : 21280728261 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5§ Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

For a long wire carrying a current of 10 A, the magnitude of magnetic field at a point 4 cm away
from it will be :

(1) 4x107°T
[} Bxl09%T

(3) 10T
(4) 5x10=*T
Options :

212807113041. 1
212807113042.2
212807113043. 3



212807113044. 4

Question Number : 101 Question Id : 21280728261 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

T & TR H 10 A &1 91 &, 389 4 cm g0 W fo s fig W grahra &= o1 aimm 2
(1) 4x1073T
(2) 2x10-5T

(3) 107°T
(4) Sx10~5T
Options :

212807113041. 1
212807113042.2
212807113043.3
212807113044. 4

Question Number : 102 Question Id : 21280728262 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

_)
A charge of 5 nC moves with a speed of 2 x 109 m/s along the positive y-axis. A magnetic field B

of strength (2? e }?)T exists in space. The magnetic force acting on the charge is :
Fa M
(1) (-20k +104)N
A M
(2)  (20k —10/)N
= A A
(3)  (20k +10i)N

/.\ At
(4)  (10i +5k)N
Options :
212807113045. 1
212807113046.2

212807113047. 3
212807113048. 4

Question Number : 102 Question Id : 21280728262 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




5 uC SEY 2 x 106 m/s I Y HACHF y-318 T I T8 | Teh Frahig &4 B % yarew (2? + ﬁ)T
frafa # &1 1w W Ry g=ea 9e ¢

(1) (—20? + 10?)N
(2) (20}3 ~ 10?)1\1
(3)  (20k +107) N

(4) (10? + 5?) N

Options :

212807113045. 1
212807113046. 2
212807113047. 3
212807113048. 4

Question Number : 103 Question Id : 21280728263 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5§ Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

The circuits where transformers are used :
(1) ac circuits

(2) dc circuits

(3) in both ac circuits and dc circuits

(4) neither in ac circuits nor in dc circuits

Options :

212807113049. 1
212807113050. 2
212807113051. 3
212807113052. 4

Question Number : 103 Question Id : 21280728263 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
iy Sl STwrR S 39 A ¥

(1) ac 99™

(2) dc 9ftoy

(3) THi ac 3R dc URgs &
(4) T ac 3R A E de IRug §

Options :

212807113049. 1
212807113050. 2
212807113051. 3



212807113052. 4

Question Number : 104 Question Id : 21280728264 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

The statement that is NOT true about induced emf is :

(1) The induced emf lasts so long as the change in magnetic flux continues

(2) The direction of induced emf is given by Lenz’s law

(3) Whenever the amount of magnetic flux linked with a circuit changes, an emf is induced in
the circuit

(4) Larger the amount of magnetic flux linked with a circuit greater is the emf induced in it

Options :

212807113053. 1
212807113054.2
212807113055.3
212807113056. 4

Question Number : 104 Question Id : 21280728264 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
foeId a8 9 (emf) F TR H STHE FF ¢ ¢

(1) ORE emf e T | @AR TR 1

(2) U@ emf =i fewn &S % 799 (Lenz’s law) ¥ a1 =eian 21

(3) @ gRuy # Frasha YA | 9iEdd & SR 9iqe § URd emf |
(4) Uy % 1Y gree TR AT S ol UG emf 31fere €

Options :

212807113053. 1
212807113054.2
212807113055. 3
212807113056. 4

Question Number : 105 Question Id : 21280728265 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




The magnitude of electric current is increasing from A towards B. If there is any induced current
in the loop as shown in the figure, its direction will be :

A\ 4

A B

(1) Clockwise

(2) Anticlockwise

(3)

(4) Can not be predicted

Options :

212807113057. 1
212807113058. 2
212807113059. 3
212807113060. 4

No induced current

Question Number : 105 Question Id : 21280728265 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

forera oy =1 afearo A | B 1 R Faad 71 afe awr (qu) S fas A gt € F 6 i g, @ swet
feem 2t

Y

) =Sl fom faen &

2) =t for fauda feon
) hrE URa gRr T
(4) STHH & M Fehd

Options :

212807113057. 1
212807113058.2
212807113059. 3



212807113060. 4

Question Number : 106 Question Id : 21280728266 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

A coil having ‘n” turns and resistance ‘R () is connected with a galvanometer of resistance “4R" ().
What is the induced current in the circuit when this combination (coil+galvanometer) is moved in
time t from a magnetic flux ¢4 to ¢, ?

q 2=
o e2- o)
o 2t
st

Options :

212807113061. 1
212807113062. 2
212807113063. 3
212807113064. 4

Question Number : 106 Question Id : 21280728266 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
e Fued foed o T €, SR U 9fady ‘R’ Q § S foh ok fararndier fage ufadie 4R Q § 9 921
BI @ | ST HASH (FUSel+TTaiet) 1 gashd TR ¢, ¥ b, Tt §57 o foru 7fqeier foan smem
1 gy § I N
—n(¢s — dq)
(1) 4Rt
—n(¢2 — d1)
(2) Rt
—n(by — 1)
(3) 5Rt
—($2 — 1)
(4) R
Options :

212807113061. 1
212807113062. 2
212807113063. 3



212807113064. 4

Question Number : 107 Question Id : 21280728267 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

An emf of 0.5 V is developed in the secondary coil, when current in primary coil changes from
5.0 A to 2.0 A in 300 milliseconds. The mutual inductance of two coils would be :

(1) 0.02H
(2) 0.3 H
3) 0.01 H
4) 0.05H

Options :

212807113065. 1
212807113066. 2
212807113067. 3
212807113068. 4

Question Number : 107 Question Id : 21280728267 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

fgdftareh Fu=ell § 0.5 V &l Tk emf 3c9%1 Bl &, ST8l WA, Fosal H &/ 300 ms § 5.0 A & gRafdd
Y 2.0 A € S &1 ST Fuetadl S i g gnt

(1) 0.02H
2) 0.03 H
(3) 0.01 H
4) 0.05H
Options :

212807113065. 1
212807113066. 2
212807113067. 3
212807113068. 4

Question Number : 108 Question Id : 21280728268 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

A series AC circuit has a resistance 8 () and a reactance of 6 . The impedance of the circuit is :
1) 140

2) 100
35
=0

G -

4 70



Options :

212807113069. 1
212807113070. 2
212807113071. 3
212807113072. 4

Question Number : 108 Question Id : 21280728268 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
T i AC uftwe # U 8 O Uil o1 s 6 O 1 ufqend &1 uftaer 1 wiqenn €
(1) 140
2) 100
35
—1
@)
4 79
Options :

212807113069. 1
212807113070. 2
212807113071. 3
212807113072. 4

Question Number : 109 Question Id : 21280728269 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
Match List - I with List - IL
List - 1 List - II
(A) Infra red waves (I)  Eye surgery
(B) Microwaves (II) 1nm to 1073 nm
(C) Ultraviolet (IIT) Heat waves
(D) X-rays (IV) Produced by special vaccum tubes

Choose the correct answer from the options given below :

(1) (A)-(1D), (B)-(1), (O-1V), (D)-(I)
(2)  (A)-(D, (B)-(1V), (O)-(D), (D)-(ID)
(

(A)-(
(3)  (AHIV), (B)-(IL), (O)-(1D), (D)-(I)
(4)  (A)-ID), (B)-(0), (O, (D)-(IV)

Options :

212807113073. 1
212807113074. 2
212807113075.3
212807113076. 4

Question Number : 109 Question Id : 21280728269 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :



Key Value
Comprehension MCQ

T - 1 et - 11 5T
;Eﬁ.I 11

(A) ST adl @ = Tafwa

(B) H&H T () 1nm ¥ 1073 nm

(C) =Tt (1) 79

(D) wEE-fHm (Iv) fovm frata et | 3afea
frefafea d 9 @@ fases &1 =979 X

(
(A)(
(3) (A)-AV), (B
(4) (M)
Options :
212807113073. 1
212807113074. 2

212807113075. 3
212807113076. 4

Question Number : 110 Question Id : 21280728270 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Following are the wavelength of some constituents of the electromagnetic spectrum. The wavelength
range that are used in Radar system for Aircraft navigation is :

(A) 1 mm to 700 nm

(B) 01mtolmm

(C) 400 nm to 1 nm

(D) <1073 nm

(E) >1m

Choose the correct answer from the options given below :
(1) (A) and (D) only

(2) (B)only

(3) (C) and (E) only
(4) (C) only
Options :

212807113077. 1
212807113078.2
212807113079. 3
212807113080. 4

Question Number : 110 Question Id : 21280728270 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Question Key Details :

Key Value
Comprehension MCQ

forera Jaeshia WaH & F5 Uea & qieed 9 § 1 aga o avy & ot RADAR gomedt # qimeed
W(Range)ﬂwmw%:

(A) 1 mm to 700 nm

(B) 0.1 mto1lmm

(C) 400 nm to 1 nm

(

(

D) <10™®nm

E) >1m

frafafaa 9 9 w&t fasey &1 =97 +:1
(1) ad (A) 3R (D)

(2) ad (B)

(3) e (C) ¥R (E)

(4) e ()

Options :

212807113077. 1
212807113078.2
212807113079. 3
212807113080. 4

Question Number : 111 Question Id : 21280728271 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

When a ray of light enters from denser medium to rarer medium, its velocity is doubled. The
critical angle for total internal reflection will be :

(1) 60°
(2) 45°
3) 30°
(4) 90°

Options :

212807113081. 1
212807113082. 2
212807113083. 3
212807113084. 4

Question Number : 111 Question Id : 21280728271 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




9 Uk YR o TR gee weay § fae aredm © e Rl |, SEeRT O g |1 S B 9eul SAiafen
e & Ty shifaes =mior &0 .

(1) 60°
(2) 45°
(3) 30°
(4) 90°
Options :

212807113081. 1
212807113082. 2
212807113083. 3
212807113084. 4

Question Number : 112 Question Id : 21280728272 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Which of the following is/are responsible for the formation of Rainbow ?
(A) Dispersion of light

(B) Interference of light

(C) Reflection of light

(D) Refraction of light

Choose the correct answer from the options given below :

(1) (B) and (C) only

(2) (A)and (C) only

(3) (A), (C) and (D) only

(4) (A) only

Options :

212807113085. 1
212807113086. 2
212807113087. 3
212807113088. 4

Question Number : 112 Question Id : 21280728272 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




TEUY T T ZTH G B H ST § 2
(A) TR T qRETT
(B) WehIY =1 SHATdhYl
(C) UehTEl T qLEd
(D) IS & ST9E
frfafad § 9 W&t faswrey o1 =9 & -
(1) e (B) ¥R (O)
(2) A (A) 3R (O)
(3) e (A), (O) ¥R (D)
(4) IS (A)
Options :
212807113085. 1
212807113086. 2

212807113087. 3
212807113088. 4

Question Number : 113 Question Id : 21280728273 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




The shape of graph between 1/u and 1/v in case of a convex lens is :

¥

B
(1) Tl/v

A —O
1/u
Y
@ i
O — X
1/u
Y
I/VT
(3)
0 — X
1/u
)

Options :

212807113089. 1
212807113090. 2
212807113091. 3
212807113092. 4

Question Number : 113 Question Id : 21280728273 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Question Key Details :

Key Value

Comprehension MCQ

A A9 F 1/u AR 1/v F 99 & Ga9 w1 0@ H Fefua fwmm s g

Y
B
o (R
A —O
1/u
}/
@ ]
O — X
1/u
X
1/v
3) T
@) — X
1/u
l/vT
(4)
0 — X
1/u
Options :

212807113089. 1
212807113090. 2
212807113091. 3
212807113092. 4



Question Number : 114 Question Id : 21280728274 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

At what speed should a galaxy move with respect to earth so that spectral line of 600.0 nm appears
as 600.6 nm ?

(1) 3x10°ms~!
2y BxI10° mygt
(3) 5x10°ms—1
(4) 5x10°ms!

Options :

212807113093. 1
212807113094. 2
212807113095. 3
212807113096. 4

Question Number : 114 Question Id : 21280728274 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5§ Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Jedt % | SMHTIFFN it 7Ifd =0 B =feC fF 600.0 nm T Fheged @1 600.6 nm Fdid 21 ?
(1) 3x10°m s~ !
(2) 3x10°ms—!
(3) 5x10°ms~!
(4) 5x10°m s~}

Options :

212807113093. 1
212807113094. 2
212807113095. 3
212807113096. 4

Question Number : 115 Question Id : 21280728275 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Two thin lenses of power +3D and —1D are held in contact with each other. Focal length of the
combination would be :

(1) 5m

(2) 50 cm

(3) 10m

(4) 100 cm
Options :

212807113097. 1
212807113098. 2
212807113099. 3



212807113100. 4

Question Number : 115 Question Id : 21280728275 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
31 T S F AW ¥ 43D 3R — 1D, S R 92 gU Y1 39 HeeH i B g 8
(1) 5m
(2) 50 cm
(3) 10 m
(4) 100 cm
Options :

212807113097. 1
212807113098. 2
212807113099. 3
212807113100. 4

Question Number : 116 Question Id : 21280728276 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Let us consider interference between two sources of intensities T and 4I. What will be the intensity
at points where the phase difference is m ?

() I
(2) 51
(3) 91
4) 0
Options :

212807113101. 1
212807113102.2
212807113103. 3
212807113104. 4

Question Number : 116 Question Id : 21280728276 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

T 3t S Sl TSRt e 1ae 41 8, SHeh sAfashio 81 11 € | 39 fog W dteran oo Srft STl hefiat = 8 2
(1) I

(2) 5l
(3) 91
4) 0

Options :

212807113101. 1
212807113102.2
212807113103.3



212807113104. 4

Question Number : 117 Question Id : 21280728277 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Two polaroid P; and P; are placed such that their pass-axis are mutually perpendicular. Another
polaroid P, is rotated between P, and P,. For what angle 6 between P, and P, the intensity of light
emerging from P; will be maximum ?

il
@ 3
®) 5
4 <

212807113105. 1
212807113106. 2
212807113107. 3
212807113108. 4

Question Number : 117 Question Id : 21280728277 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

QI Yo P, 991 P, ol 56 YR 1@l 71 § fof 3eh1 IIRE 218 T8 @9ad §1 U g8 e P, Sil fo P,
AT P, T 19 YU F W R Py 3R P, & o= fRw @ ¢ & o P, @ frerer aren gemw R e
sAferepeam gt 2

M 3
& 5
®) 7
@
Optons:

212807113105. 1
212807113106. 2
212807113107. 3
212807113108. 4



Question Number : 118 Question Id : 21280728278 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The graph showing correct variation of photo current with intensity of incident light :

=
H
3
e E
1) &8
Intensity
of light
=
T
g
e B
2 =3
Intensity
of light
=l
H
3
ek
S &
Intensity
of light
2
B
—&j
U —
g
< 3
(4) A
Intensity
of light
Options :

212807113109. 1
212807113110.2



212807113111.3
212807113112. 4

Question Number : 118 Question Id : 21280728278 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

fou 71U oAt H § F 91 THE-S9d 9N IR afaes YeRre i dierdl & s T8 e ©
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of light
e
i
ks
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of light
2
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3
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Intensity
of light

Options :



212807113109. 1
212807113110.2
212807113111. 3
212807113112. 4

Question Number : 119 Question Id : 21280728279 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Electron and Photon have same de Broglie wavelength, which of the following is true for their
momentum :

(1) Momentum of electron < momentum of photon
(2) Momentum of electron and photon is zero
(3) Momentum of electron = momentum of photon

(4) Momentum of electron > momentum of photon

Options :

212807113113. 1
212807113114.2
212807113115.3
212807113116. 4

Question Number : 119 Question Id : 21280728279 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

TAHRM 3 BIEH H El-sFdl aiicsd 9 2| 7% a1 & fau Fefafga d A M @ 99 99 2 :
(1) TS 1 HATT < HIH & HaAT

(2) TFH IR WA % G I ¥

(3) TOEH H1 HAT = W H AT

(4) SoiagM %1 HAT > I I Hal

o 1311, 1

212807113114. 2

212807113115.3
212807113116. 4

Question Number : 120 Question Id : 21280728280 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




Which of the following graph correctly shows the relation between photoelectric current (I) and
wavelength (M) of incident radiation

(]

(1)
A —>
1
)
A —>
(3) I T
AN —>
i
(4) T
AN —>
Options :

212807113117.1
212807113118. 2
212807113119. 3
212807113120. 4

Question Number : 120 Question Id : 21280728280 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ




e feu Tu strer H § e fagga uw (1) @en stfaa faferwe @ qineed (\) A 9@ darw wefifa ©

1]

(1)
A —>
3
(2)
A —>
|
(3) T
A —>
I
(4) T
A —>
Options :

212807113117.1
212807113118.2
212807113119. 3
212807113120. 4

Question Number : 121 Question Id : 21280728281 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Consider two different hydrogen atoms. The electron in each atom is in first excited state. According
to Bohr's model, electrons will have :

(1) different energies but the same orbital angular momentum
(2) same energies and the same orbital angular momentum
(3) same energies but different orbital angular momentum

(4) different energies and no orbital angular momentum

Options :

212807113121. 1
212807113122.2
212807113123.3
212807113124. 4

Question Number : 121 Question Id : 21280728281 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

21 TrESeH ], S TR 39 Hom e stewen H ¥ sl Wied & I 4R, oagH % U ¢

(1) fafs= =i o2 a9m wwadfa soiE d@o)

(2) HHM TSl SR THE HEE i Fo |

(3) HEE FEl W fafy= i woig o)

(4) fafs= sl ol = i i gam =8 2
Options :

212807113121. 1
212807113122.2
212807113123. 3
212807113124. 4

Question Number : 122 Question Id : 21280728282 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Choose the correct statements :

A) A nuclide is represented as %Z X

B) Nuclids with same number of protons are called isotopes

(
(
(C) a-ray scattering experiments allow determination of the nuclear radius
(D) Nuclids with same number of neutrons are called isotones

(

E) The nuclear force distinguishes between neutron and proton

Choose the correct answer from the options given below :

(1) (A) (B), (), (D) and (E) only
(2) (B), (D) and (E) only

(3)  (B), (C) and (D) only

4) (B) (©), (D) and (E) only



Options :

212807113125. 1
212807113126. 2
212807113127.3
212807113128. 4

Question Number : 122 Question Id : 21280728282 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

TTH 9 9 9 g

(A) geFrEe ST 2 x gr fa@mn i €

(B) —gairze fSrHeh YIS &l §9F HeA 31 39 gHefe FEd 2
(C)  o-Tercur yariforg gt it eveRta = <Rt srarar €1

(D) —gFaEe fred gaM 2M i G 8 39 FHE] FEd T
(E) FI9ehid o S =Jg a9 W H U8 ol €1

T faredi 9 9 981 &1 9949 &L

(1) %= (A), (B), (©), (D) ¥R (E)

(2) & (B), (D) SR (E)

(3) %A@ (B), (O) ¥R (D)

(4) %3 (B), (C), (D) ¥ (E)

Options :

212807113125. 1

212807113126.2

212807113127.3
212807113128. 4

)
)

Question Number : 123 Question Id : 21280728283 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Match List - I with List - IL
List -1 List - II

(A) To slow down fast moving neutrons () Thermal neutrons
(B) A neutron or a proton (I) Fission

(C) Slow neutrons (IITy Moderator

(D) Neutron induced nuclear reaction (IV) Nucleon

Choose the correct answer from the options given below :
(1) (A)-1V), (B)-(II), (O-(), (D)-(I)
(2) (A0, (B)-(IV), (O-(II), (D)-(I)
(3)  (A)-(D), (B)-(), (©)-(1V), (D)-(I)
(4) (AU, (B)-1V), (©)-0), (D)-(ID)

Options :

212807113129. 1
212807113130.2
212807113131. 3
212807113132. 4

Question Number : 123 Question Id : 21280728283 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

- [ 9 et - 11 %l e
Tt - 1 - 1

(A) e w9 | Afaelia =EE w@ fm e s far (@ adE - =eE
(B) I A UIEH () fagved

(C) i =2 () Heeh

(D) =2 ¥ Yfa vk sifufean (IV) ~gFIrEH
i few T foeredl | & W& ST o T h

(1) (A)-(IV), (B)-(IM), (O)-(1), (D)-(I)

(2)  (A)-(D), (B)-(IV), (C)-(II), (D)-(II)

(3)  (A)(ID), (B)-(ID), (©)-IV), (D)-I)

(4)  (A)-D, (B)-(IV), (O)-(I), (D)-(II)

Options :

212807113129. 1
212807113130. 2
212807113131.3
212807113132. 4

Question Number : 124 Question Id : 21280728284 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




A radioactive isotope phosphorous-32 has an initial activity 10 pCi and has half life of 14 days.
What is the activity of the source after 42 days ?

(1) 1.25 uCi

(2) 25 pCi
(3) 5 uCi

(4) 0.625 pCi
Options :

212807113133. 1
212807113134.2
212807113135.3
212807113136. 4

Question Number : 124 Question Id : 21280728284 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

e Leftar gaeenfies wERRE-32 &1 JRiE 9ihaar 10 pCi 3R 7917 14 fe7 &1 42 &7 91g &
o Tfshaan == &t ?

(1) 1.25 uCi
(2) 25 pCi
3) 5 uCi

(4)  0.625 pCi
Options :

212807113133. 1
212807113134.2
212807113135.3
212807113136. 4

Question Number : 125 Question Id : 21280728285 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5§ Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Energy band gap is maximum in :
(1) metals

(2) semi-conductor

(3) super conductor

(4) insulator

Options :

212807113137. 1
212807113138.2
212807113139.3
212807113140. 4

Question Number : 125 Question Id : 21280728285 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :



Key Value

Comprehension MCQ
Tl dwe 19 fohg o sAfyerad €2

(1) wmgd

(2) o1 =wE

(3) SIfd =erh

(4) FEIEHR
Options :

212807113137. 1
212807113138.2
212807113139.3
212807113140. 4

Question Number : 126 Question Id : 21280728286 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

The forbidden energy gaps in conductors, semiconductors and insulators are (Eg)er (Eg)s and
>

(Eg)l respectively, What is the relation among them ?

(1) (Bpe < (Eps < (Ep)
@) (Ey.> (B> Ep)
(B)  (By. < (Ep),> By
(4)  (Bpe=(Eys> [Ey)

Options :

212807113141. 1
212807113142.2
212807113143.3
212807113144. 4

Question Number : 126 Question Id : 21280728286 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

AT, STEETCRT IR Feerhl H afefd Sl SHquet A (Ey),, (Ey)s S (Ey); €1 376 = Hefel 1 8 2

g)s

(D) By < (Bgs < (Bg)y
@ E)>E),> E)
(3) (Eg)c = (Eg)s 2 (Eg)l
(@) (Epe= (Eye> Ep)

Options :

212807113141. 1
212807113142.2
212807113143.3
212807113144. 4

Question Number : 127 Question Id : 21280728287 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which of the following statements are correct for a transistor action ?

(A) The input resistance depends upon the current I in the transistor

(B) Collector currents is equal to the sum of base current and emitter current
(C) The emitter junction is forward biased

(D) The collector junction is reverse biased

(E) Both the emitter junction as well as the collector junction are forward biased

Choose the correct answer from the options given below :
(1) (A) (B) and (C) only

(2)  (B) (C) and (D) only
(3) (O, (D) and (E) only
(4) (A) and (C) only
Options :

212807113145. 1
212807113146.2
212807113147.3
212807113148. 4

Question Number : 127 Question Id : 21280728287 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Gerrur foran & foru 578 & $F @1 oA g 72

(A) erforex § fraef fady emy 1, W faei o #)

(B) HUESH YR, MR €RT IR ScHSish &R o FRT - BT § 1
(C) TS |y eTufefies smaw 2 2|
(
(
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D) Hures af- yyafefve smm g g

E) onur |fy agn guwes af 291 swfefors s 2
= fou U foswredi § 9 9 ST 1 999

(1) & (A), (B) 3R (O)

(2) e (B), (C) ¥R (D)

(3) e (C), (D) 3R (E)

(4) e (A) ¥R (O)

Options :

212807113145. 1
212807113146.2
212807113147.3
212807113148. 4

R



Question Number : 128 Question Id : 21280728288 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The logic gate realised using p-n junction diodes in the given figure is :

Ae i

— @

Be -

= %g

Y
®

(I) OR gate

(2) NOT gate
(3) AND gate
(4) NAND gate
Options :

212807113149. 1
212807113150. 2
212807113151.3
212807113152. 4

Question Number : 128 Question Id : 21280728288 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




p-n G4 grEire S foa B 9 fohan T § i i e ama 22

Ae Jer

—o

Be i

o=

(1) OR =

(2) NOT =

(3) AND 2

(4) NAND e
Options :

212807113149. 1
212807113150. 2
212807113151. 3
212807113152. 4

Question Number : 129 Question Id : 21280728289 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5§ Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which of the following is a transducer ?

(A) Loudspeaker

(B) Amplifier

(C) Rectifier

(D) Microphone

Choose the correct answer from the options given below :
(1) (B) and (C) only

(2) (A), (B) and (D) only

(3) (A) and (B) only

(4) (A) and (D) only

Options :

212807113153. 1
212807113154.2
212807113155.3
212807113156. 4

Question Number : 129 Question Id : 21280728289 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :



Key 'Value

Comprehension MCQ
‘T e i A Fm R

(A) e T

(B) waY®

(C) fe=srl

(D) HIZRITA

== fou T fowredi @ J Wér ST 997 HL ¢
(1) e (B) ¥R (O)

(2) = (A), (B) 3R (D)
(3) e (A) ¥R (B)
(4) HEE (A) IR (D)

Options :

212807113153. 1
212807113154. 2
212807113155.3
212807113156. 4

Question Number : 130 Question Id : 21280728290 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The correct mathematical expression for amplitude modulated wave is :
(1) Asinet

(2) A sine t

(3) (A, +A,sinw,t)sinwt

(4) Asine t+A sino t

Options :

212807113157. 1
212807113158.2
212807113159. 3
212807113160. 4

Question Number : 130 Question Id : 21280728290 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
A Higere q &1 TEl it 1o g3 ¢
1 A sinw t
2) A, sinwt

(A, + A, sinw  t)sinm t
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Options :

212807113157. 1
212807113158. 2
212807113159.3
212807113160. 4

Question Number : 131 Question Id : 21280728291 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

A vertical electric field of magnitude 4.9 x10° NC~! just prevents a water droplet of mass 0.1 g
from falling. What is the charge on the droplet ? Take acceleration due to gravity 9.8 ms =2
(1) 20%10-2C
(2) 2.0x1076C
(3) BO%IPC
(4) 5.0%x10°C
Options :
212807113161. 1
212807113162. 2

212807113163.3
212807113164. 4

Question Number : 131 Question Id : 21280728291 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

e IgTHI forefd &5 =1 19 4.9 x 10° NC 1 S 0.1 g 5 &1 g &l A 4 =<1 81 @1 §8 W 3369 #
BIT ? (T @0=9.8 ms ™~ 2)

fj 20%10-2¢

(2) 20x10-¢C

(3) 5.0x10°C

(4) 5.0x10°C

Options :

212807113161. 1
212807113162.2
212807113163. 3
212807113164. 4

Question Number : 132 Question Id : 21280728292 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




Which of the following statements are correct ?

(A) The resistivity of a semiconductor decreases with increasing temperature.
(B) The potentiometer is unaffected by the internal resistance of the source.
(C) Inionic crystals and electrolytic liquids electrons carry the electric current.
(D) Ohm's law fails if V depends on I non-linearly.

(E) Kirchhoff’s rules are used for analysis of electric circuits.

Choose the correct answer from the options given below :

(1) (B), (© and (E) only

(2)  (A), (B), (D) and (E) only

(3) (), (D) and (E) only

(4)  (A), (© and (D) only

Options :

212807113165. 1

212807113166. 2

212807113167. 3

212807113168. 4

Question Number : 132 Question Id : 21280728292 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

A s T FA FE T 2
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(C) smafT forteet, Thaiiiees Ball, Seehali Toeld YN 1 9& Ldl o
(D) ‘3ir’ = form o] 721 A ® afe v, T W T w9 § R wa #)
(B) ‘foEre’ foam o1 sweii faga oftny & S 2

A= fou U fawmedi o 9 W& ST 1 994 Hif9U ;

(1) %ﬁa()uaﬂ?()

(2) e (A), (B),() (E)
(3) @ad (C), (D) ¥R (E)
(4) EE (A), (C) 3 (D)
Options :

212807113165. 1
212807113166. 2
212807113167. 3
212807113168. 4

Question Number : 133 Question Id : 21280728293 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




For a medium with permittivity (€) and permeability (), the speed of light (v) is given by :

Options :

212807113169. 1
212807113170.2
212807113171. 3
212807113172. 4

Question Number : 133 Question Id : 21280728293 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Options :

212807113169. 1
212807113170. 2
212807113171. 3
212807113172. 4

Question Number : 134 Question Id : 21280728294 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




A parallel beam of monochromatic light of wavelength 460 nm passes through a long slit of
width 0.1 mm. What is the angular divergence in which most of the light is diffracted ?

(1) 23x1072 rad

(2) 4.6x1073 rad

(3) 9.2%1072 rad

(4) 9.2x107° rad

Options :

212807113173. 1
212807113174.2
212807113175.3
212807113176. 4

Question Number : 134 Question Id : 21280728294 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

T 460 nm THTCEA STeT Tk vl Fehmer o1 Al =1 it T 0.1 mm =eE ot ol fordt § Joret 21
IV YEUl (angular divergence) 1 & fSai sifueray wermn &1 faad= gan 2 2

(1) 23%1073 rad

(2) 4.6x1073 rad

(3) 9.2x1073 rad

(4) 9.2%107° rad

Options :

212807113173. 1
212807113174. 2
212807113175.3
212807113176. 4

Question Number : 135 Question Id : 21280728295 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

What is the wavelength of light for the least energetic photon emitted in the Lyman series of the
hydrogen atom spectrum lines ?

(Take h=663x10"3*TJs ;e=3%x10%ms=1 ; e=1.6 1012 C)
(1) 122 nm

(2) 12.2 nm

(3) 1.22 nm

(4) 10.2 nm
Options :

212807113177. 1
212807113178.2
212807113179. 3
212807113180. 4

Question Number : 135 Question Id : 21280728295 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

el &H Fell dlel il St o BIESIsH T & AHA 40 § IeafSid 1, 39 YehTel a1 aiTaed a1 SR 2
(h=6.63%x10"3Js ; c=3x10® ms~!; e=1.6x10"19 C wifam)

(1) 122 nm

(2) 12.2 nm

(3) 1.22 nm

(4) 10.2 nm
Options :

212807113177. 1
212807113178.2
212807113179.3
212807113180. 4



